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Tuesday, July 21, 2020
--- On commencing at 9:01 a.m.

MR. SIDLOFSKY:  It's 9:01.  Why don't we go on the record.


Good morning, and welcome to what is shaping up to be the final day of the Hydro Ottawa technical conference.


We are going to be starting with the continuation of Board Staff questions, and we will begin with Andrew Frank in just a moment.


Once again, we will have two breaks this morning.  First one will be -- well, we will see how things go, but scheduled for around 10:20, and then we will be giving our second break over to having the Hydro Ottawa boardroom cleaned up a bit, and then it will be hopefully about ten to 11:00, eleven o'clock this morning.


I have already checked with Hydro Ottawa, but does anyone else have any preliminary matters before we begin?  I will give you about five seconds to chime in.


Perfect.  Okay.  In the absence of any preliminary matters, we're going to continue with Andrew Frank from Board Staff.

HYDRO OTTAWA LIMITED - PANEL 3, resumed

Greg Van Dusen

Patrick Brown

April Barrie

Examination by Mr. Frank:


MR. FRANK:  Good morning, panel.  So I guess I will start with Staff 129, if we could bring that one up.


So, sorry, in response to part A and B, where Staff had asked for a scenario where single monthly dummy -- sorry, right there.  Okay.


So the staff had asked for a scenario where a single monthly dummy variable was removed and an intercept was added.  In both of these questions, Hydro Ottawa responded that the result of the scenario is identical to the forecast.  Is that correct?


MS. BARRIE:  That is correct.


MR. FRANK:  Okay.  So what would happen naturally is that the coefficient of the variable to be removed would become the coefficient of the intercepts, and then the remaining monthly variables would see their co-efficients changed by approximately the amount of the new intercept, and as a result, the model would predict the same energy use in every month.  Is that correct?


MS. BARRIE:  That is what the answer -- yes.


MR. FRANK:  Okay.  But of course, once the co-efficients of the remaining monthly variables are removed
-- are -- sorry, once the co-efficients of the remaining monthly variables have been updated, we might actually find that they were sufficiently similar to the month removed and that the remaining co-efficients have no or minimal statistical significance.  Isn't that possible?


MS. BARRIE:  That's possible, but in order to test that out I would have to have somebody look at the model.


MR. FRANK:  Right.  So I guess that was the intent of the request for the scenario.


So in doing so, it might be possible to remove several variables, some additional ones which are no longer statistically significant.


So is that a reasonably possible thing?


MS. BARRIE:  Yes, that is a reasonably possible thing.


MR. FRANK:  Okay.  So would Hydro Ottawa undertake to provide such a scenario where, first, the requested variables are removed and then any additional variables that are no longer statistically significant are also removed?


MS. BARRIE:  We can.  Just to clarify, I believe that was done already for A and B.  I was just saying that I could go back and double-check, so -- so -- but I will do that.  I can undertake to do that.


MR. FRANK:  All right.  Thank you.


MR. SIDLOFSKY:  That will be Undertaking JT4.1.
UNDERTAKING NO. JT4.1:  TO PROVIDE A SCENARIO WHERE, FIRST, THE REQUESTED VARIABLES ARE REMOVED AND THEN ANY ADDITIONAL VARIABLES THAT ARE NO LONGER STATISTICALLY SIGNIFICANT ARE ALSO REMOVED.


MR. FRANK:  Okay.  So moving on to Staff 131, and I'm actually looking at the co-efficients -- perhaps what I think we need to do is we need to pull up the attachment.  Yes, I believe we need to pull up the attached model.


MS. BARRIE:  So are you wanting attachment 131A to be pulled up?


MR. FRANK:  Yes, please.


MS. BARRIE:  Natasha, could you please pull up the Excel file that relates to this?


MR. FRANK:  So -- okay.  Can we go to the tab GS 1,000 NI-co-F.  Right.  Thank you.


So I am seeing variables for megawatt-hours, April -- sorry.  Sorry, that was, sorry, GS 1,000 NI co-F.  Okay, thank you.


So here I am seeing the variables for megawatt-hours, April of 2017, December of 2017, a year 2018 plus, as well as one for each of the 12 months of the year.  And I am looking at the T-stat for these variables, and it looks like the one for megawatt-hours is nearly 2.4.  The one for December of 2017 is negative 2.2.  And all of the rest seem to have an absolute value of less than 1.4.  Is that correct?


MS. BARRIE:  Subject to check.


MR. FRANK:  Okay.  So is there a level of T-stat or P value that you would consider to be required such that a variable has a meaningful predictive value?


MS. BARRIE:  So I would need to undertake to undertake to ask Itron to respond to that detailed question.  I can speak to the high level of the load forecast, but getting no this level I would need to ask them.


MR. FRANK:  Okay.  So I was looking at a T-stat with an absolute value of at least 2.0 or even 1.5 as being required to ensure that the variable has a meaningful predictive value.


Actually, would it be okay for you to accept that subject to check?

MS. BARRIE:  Sure.

MR. FRANK:  Okay.  So to me, it looks like only the megawatt-hours and the December 2017 meet that threshold.  So if we had simplified the model to include just those two variables, the only one being used during the forecast years would then be megawatt-hours.  Is that correct?

MS. BARRIE:  Sorry, can you repeat that question?

MR. FRANK:  Sorry.  If we had -- if we had removed all of the variables with a T-stat with an absolute value of less than 1.5, the only variables that would remain would be the megawatt-hours in December of 2017.  And then the only one that would actually be used during the forecast period would actually be the megawatt-hours.  Is that right?

MS. BARRIE:  That does appear to be right, subject to check.

MR. FRANK:  Okay.  So essentially, each incremental megawatt hour would then result in a certain amount of incremental forecasted kilowatts, correct?

MS. BARRIE:  Subject to check, correct.

MR. FRANK:  So I guess the question is, how does this differ from a ratio of -- a simple ratio of kilowatt-hours to kilowatts?

MS. BARRIE:  So I could take that as an undertaking to look at that.  I couldn't answer that level of question right on the -- right in this proceeding.

MR. FRANK:  Okay.

MR. SIDLOFSKY:  We will make that undertaking JT4.2.
UNDERTAKING NO. JT4.2:  RE STAFF 131A, ATTACHMENT SHOWING THE MODEL, TAB GS 1,000 NI-CO-F, TO EXPLAIN HOW THE MODEL DIFFERS FROM A RATIO OF KILOWATT-HOURS TO KILOWATTS


MR. FRANK: So I will move on to Staff 132.  So going to the response, I guess OEB Staff understands from the response that table 2 in the updated Exhibit 3, tab 1, schedule 1 reflects the billing demand forecast.


We now also understand the problem with comparing it to table 8 from appendix C to that schedule.  Can you please provide a reference in a load forecasting evidence which includes a derivation of the billing demand?

MS. BARRIE:  Yes, we can undertake to do that.

MR. FRANK:  Okay.

MR. SIDLOFSKY:  JT4.3.
UNDERTAKING NO. JT4.3:  RE STAFF 132, TO PROVIDE A REFERENCE TO LOAD FORECASTING EVIDENCE WHICH INCLUDES A DERIVATION OF THE BILLING DEMAND.


MR. FRANK:  Moving on to Staff 137.  So in Staff -- actually, let's move on to 138.  So in Staff 138, OEB Staff asked about the suitability of using a 20-year average definition of weather normal in the context of a peak demand forecast.

Hydro Ottawa responded that it is the generally accepted measure in Ontario.  However, the filing requirements require either a 10-year average or a 20-year trend in defining normal weather.

So can you provide examples of where a 20-year average was accepted in Ontario?

MS. BARRIE:  Yes, I can undertake to do that.

MR. FRANK:  And then maybe I will ask they next part before we get an undertaking number assigned.  The response then references Itron's 2017 forecasting benchmark survey, where the largest group uses a 20-year period for weather normalization.  And my question is with such a long time horizon, why is Hydro Ottawa proposing to use an average as opposed to a trend?

MS. BARRIE:  In terms of looking at the 20-year forecast?

MR. FRANK:  Right.  In terms of using a 20-year time horizon to underpin the definition of normal weather, as to why you would use an average as opposed to a trend.

MS. BARRIE:  Subject to check, I believe that is what Hydro Ottawa has used in the past as well.

We worked with Itron for -- with a number of load forecasts and the models have been -- have been close to what they've been predicting in the past.  So we've continued to use the average.

MR. FRANK:  Thank you.

MR. SIDLOFSKY:  Could I just stop you there?

I apologize for that; I had a small technical issue.  That previous undertaking is JT4.4.
UNDERTAKING NO. JT4.4:  RE STAFF 138, TO PROVIDE EXAMPLES OF WHERE A 20-YEAR AVERAGE WAS ACCEPTED IN ONTARIO, AND TO EXPLAIN WHY HYDRO OTTAWA IS PROPOSING TO USE AN AVERAGE AS OPPOSED TO A TREND


MR. FRANK:  Okay, thank you.  So I am going to move off of the load forecast and move on to cost allocation now.

My next question is regarding Staff 154.  So in this question, looking at the response and in the updated cost allocation model filed in Staff -- filed in Staff 38, we notice that Hydro Ottawa -- actually, let's bring up Staff -- the cost allocation model.  So this one was filed in response Staff 38.  It's the updated cost allocation model.

Sorry, I am looking for the updated Excel model.

MR. VAN DUSEN:  Mr. Frank, it is Mr. Van Dusen.  Which attachment do you want us to specifically open?

MR. FRANK:  Specifically the cost allocation model.

MS. BARRIE:  That would be attachment A.

MR. VAN DUSEN:  Attachment A, thank you.

MS. BARRIE:  I think you will have to open it in Excel.  So we notice that the -- if we scroll down and if we could put accounts 1830 to about 1845 up on the screen, that would be great.  Sorry, sorry --


MS. BARRIE:  You have gone down a little bit too far.

MR. FRANK:  Accounts 1830 to 1845.  The account numbers are in column A.  Thank you.  That's great.  Right there.

So in this one, Staff -- sorry.  We notice that Hydro Ottawa apportioned the gross book value of account 1835 on the basis of account 1830 and account 1845 on the basis of 1840.  However, when we look in the updated model, we see that for both account 1835 and 1845 only the gross book value was apportioned.

There is no apportionment for the deferred revenue or capital contribution or any of the amortization entries, be it accumulated or expense.  These ones remain 100 percent primary.

So my question is, was that intentional?

MS. BARRIE:  No, I don't believe it was.  I would have to look into that.

MR. FRANK:  Okay.  Well, if it's not intentional, would you undertake to correct it at the next opportunity to update the model?

MS. BARRIE:  Yes, I can undertake to do that.

MR. FRANK:  All right.  Thank you.

MR. SIDLOFSKY:  That will be JT4.5.
UNDERTAKING NO. JT4.5:  TO ADVISE WHETHER IT WAS INTENTIONAL THAT THERE IS NO APPORTIONMENT FOR THE DEFERRED REVENUE OR CAPITAL CONTRIBUTION OR ANY OF THE AMORTIZATION ENTRIES, BE IT ACCUMULATED OR EXPENSE, AND TO CORRECT IT AT THE NEXT OPPORTUNITY TO UPDATE THE MODEL.

MR. FRANK:  Okay.  I'm going to move on to the next one.  Rather than have you pull up an interrogatory response, why don't you pull up the attachment -- sorry, OEB 156, attachment A.

So in Staff 156, we asked about the derivation of the demand allocators, in particular some inconsistent demand allocators in the standby rate class.

And I believe the explanation that is there was a formula error and the CP demand allocators have been used in place of the NCP allocators.

So I saw that in the cost allocation model the referencing error had been fixed.  So that's why I am taking you straight here.

The other thing I noticed is that the 2021 proposed demand allocators now match the 2016 approved demand allocators.  So looking in this attachment, if we go to the -- this would be hourly load shapes by class.  Go to row 6, columns AR to BA.  It's probably best if we just leave it at the top and scroll over to the right so that we can see columns AR to BA.  Okay, excellent.

So here, with these factors in every class except standby, these are based on the relative change in class energy consumption for the previous load profiles to the 2021 load forecast.  Is that correct?

MS. BARRIE:  Subject to check, that's correct.

MR. FRANK:  Okay.  I don't know that it's necessary to check, but for the standby rate class we don't have any forecasted energy for 2021; is that correct?

MS. BARRIE:  That is correct.

MR. FRANK:  Okay.  So instead we have a scaling factor of 1 being used, correct?

MS. BARRIE:  Correct.

MR. FRANK:  However, in the previous proceeding the billing demand for the standby class was forecasted to be 4,800 kilowatts and in 2021 it is forecasted to be 7,440 kilowatts, correct?

MS. BARRIE:  That's correct.

MR. FRANK:  So wouldn't it have been reasonable to perhaps scale off of the demand in the absence of an energy scaling factor to use?

MS. BARRIE:  So the standby customers aren't actually billed off of kilowatt hours, because kilowatt hours is billed through the regular consumption of the customer and there is no additional charge.  So I believe that is why the scaling has remained the same, rather than coinciding with the demand.

MR. FRANK:  Okay.  They are billed for the demand, right?

MS. BARRIE:  They are billed for the demand, yes.

MR. FRANK:  Okay.

MS. BARRIE:  So I could certainly look to see if there's a large impact of doing that differently.

MR. FRANK:  Sure.  Yes.  Okay.  I was wondering why it wasn't scaled based on demand, given that that's what we had available, but...

MR. SIDLOFSKY:  Do we have an undertaking there then or -- Mr. Frank, are you asking for one?

MR. FRANK:  Yes.  Let's do it.  Let's have an undertaking.

MR. SIDLOFSKY:  JT4.6.
UNDERTAKING NO. JT4.6:  TO SEE IF THERE IS A LARGE IMPACT OF DOING THE BILLING/SCALING DIFFERENTLY.

MR. FRANK:  Okay.  And those are all of my questions, so thank you, panel.

MS. BARRIE:  Thanks.

MR. SIDLOFSKY:  Thanks, Mr. Frank.  We are going to move on to Keith Ritchie for Board Staff.
Examination by Mr. Ritchie:


MR. RITCHIE:  Thank you, Mr. Sidlofsky.  I am just going to have some follow-up questions, and I think it's going to be for Mr. Brown.  And I am wanting to follow up on some of the discussion that you had with Ms. Girvan on Friday.

My reference is to the day 3 transcript and to page 103 of the transcript, starting at line 21.  So page 103 and line 21.  And it's the numbered page 103.  The page numbers look different.  It's a discussion that Ms. Girvan was questioning Mr. Brown.

MR. VAN DUSEN:  Just one minute, Mr. Ritchie.  We're having technical challenges here.  We will be right with you.

It is starting at about line 21 on that page and, I guess, going over to the next page.

There you had a discussion with Ms. Girvan where you viewed that your custom IR proposal is not equivalent to a cost of service, even just for the capital related revenue requirement.

And you referenced the response to Energy Probe No. 1 in your discussions.  Do you recall that?

MR. BROWN:  Yes.  Yes, I do.

MR. RITCHIE:  Okay.  Now I would like to go to OEB Staff No. 2, and just, I guess, by way of -- we will stay on the first page with the preamble in this interrogatory.

OEB Staff basically documented its understanding of Hydro Ottawa's custom IR proposal, and then in part A asked Hydro Ottawa to confirm or correct OEB Staff's understanding.

Now, dealing with the preamble on page 1, with respect to the capital portion of the proposal, OEB Staff documented -- and this is the first bullet:

"Capital is passed through annually by updating the rate base for capital additions and removals each year, and recalculating the capital-related revenue requirement (return of capital -- depreciation/amortization, return on capital and associated taxes.)"

Do you see that?

MR. BROWN:  Yes, I do.

MR. RITCHIE:  Okay.  And going to page 2 of that response, Hydro Ottawa's response to part A was that:   "Hydro Ottawa confirms OEB Staff's understanding of the utility's custom IR plan for adjusting its revenue requirement for each of 2022-2025, following rebasing in 2021."


Do you see that?

MR. BROWN:  Yes, I do.

MR. RITCHIE:  Okay.  And then on day 1 of the technical conference, when I was questioning Mr. Tejwani, I sought some confirmation on how Hydro Ottawa was proposing to use the forecasted cost of capital parameters in the recalculation of the capital related revenue requirement for each year.

I had a brief discussion with this.  And again the reference is going to be to the day 1 transcript, page 49, line 17, to page 50, line 8.

MR. BROWN:  The page number?

MR. RITCHIE:  Page 49, starting at line 17.

MR. BROWN:  Okay.

MR. RITCHIE:  Again, it just goes over to page 50 on the next page.  So do you see that?

MR. BROWN:  Yes, I do.

MR. RITCHIE:  Okay.  Mr. Tejwani confirmed that the recalculation of the capital related revenue requirement for each year, taking into account the recalculation, basically reaffirmed what was the response to OEB Staff 1A.

And so I am just trying to understand further your discussion with Ms. Girvan.  Can you help me to better understand on how you do not consider that the capital portion of the revenue requirement is being done on a cost of service basis annually over the planned term?

MR. BROWN:  Sure.  Consistent with what we have articulated thus far, Hydro Ottawa wishes to emphasize that, one, the forecast capital expenditures are predicated on a robust asset rationalization process that preceded the formulation of the plan.  So that is important to bear in mind.

Secondly, we believe we have fulfilled the requirements in the rate handbook to forecast our expenditures on a 5-year basis, on a multi-year basis, and that is in contrast to the cost of service approach.

MR. RITCHIE:  Okay.  I guess it's things like productivity.  So your viewing that, how you develop the asset management plan, how you reflected productivity is different under your plan than it would be under a cost of service, even a multi-year cost of service?

MR. BROWN:  Correct.

MR. RITCHIE:  Okay.  So you don't think that these things are as important or, you know, that they haven't been considered in utility regulation in cost of service or multi-year cost of service, even for like previous cost of service applications that Hydro Ottawa would have brought before the Board and had the Board make decisions on?

MR. BROWN:  Well, I just want to be careful about the choice of wording and how this is described.  It's not that we don't view it as important.

I think, again, getting back to what we presented and articulated in this application, and in keeping with the parameters or the space that is carved out for a utility to customize its rate-setting approach under the custom IR option, it is our view that the steps that we took in advance of formulating and crystallizing our expenditures on the capital side, mainly through the asset rationalization process, and then through the embedding of productivity incentives on the OM&A side, along with other measures that we will be speaking to and providing additional information on, such as what our colleague Ms. Collier spoke about regarding the absence of inflation for forecasted capital expenditures, we believe that as a package holistically that what we have put forward has fulfilled the spirit in the letter of custom IR requirements and that there are guarantees of productivity incentives and outcomes and savings at the end of the day and at the end of this five-year rate term.

MR. RITCHIE:  Okay, thank you.

MR. RUBENSTEIN:  Mr. Ritchie, can I just make a follow-up question?

MR. RITCHIE:  Sure.

MR. RUBENSTEIN:  If I could approach Mr. Ritchie's question in a different way.

With respect to the capital specifically, imagine there was no custom IR handbook and you were required to file a five-year cost-of-service application.  With respect to the capital, what would look different?

MR. VAN DUSEN:  Mr. Rubenstein, it is Mr. Van Dusen speaking.  So what would look different in terms of the capital program, in reality very little would look different, because we take our requirement to take into account customer needs, system needs, financial needs, and balance them all.

So this program that ended up being in our application took into account all of those factors.  We would like to think that we would be diligent in any type of application and taking into account the impacts on the customers and system reliability, safety, financial, financial soundness.

So although the answer is it would not look much different, we still feel that that process that we went through was a rigorous process and embedded in it productivity and continuous improvement.  And as Mr. Brown just said, there were some items that Ms. Collier noted as well, in terms of inflationary aspects that we did not include into the capital forecast.

MR. RUBENSTEIN:  Thank you.

MR. RITCHIE:  Thank you.  Those are my questions.

MR. SIDLOFSKY:  Mr. Ritchie, thank you.  Last person from Board Staff dealing with this panel is Mark Lowry from PEG.
Examination by Mr. Lowry:

DR. LOWRY:  Good morning.  Okay.  I would like to start with a reference to 1 Staff 31.  All right.  So in this question we asked for data for a historical period as long as possible for gross plant value, gross plant additions, and accumulated depreciation.

There was just one little thing I didn't quite understand about this response, and that was at the bottom of the answer to part A, which is there on the -- there on the screen.  It says:
"Upon transition to IFRS, accumulated depreciation was netted to cost, thereby making data for years 2014 -- pre-2014 not comparable."

And I just wasn't understanding the part about understanding about accumulated depreciation netted to cost.

MR. VAN DUSEN:  So Mr. Lowry, it is Mr. Van Dusen.  Unfortunately that question would be better have been put to Ms. Collier in her appearance.  She is the director of finance.  There is no one on this panel who could answer that.  We could undertake to get a response to you.

DR. LOWRY:  Please.  And I was also --


MR. SIDLOFSKY:  Sorry.  We will make that Undertaking JT4.7.
UNDERTAKING NO. JT4.7:  TO EXPLAIN THE PART IN 1 STAFF 31 ABOUT UNDERSTANDING ABOUT ACCUMULATED DEPRECIATION NETTED TO COST.  ALSO TO ADVISE WHETHER GROSS PLANT VALUE OR GROSS PLANT ADDITIONS PRIOR TO 2014 WILL BE RESTATED OR HAVE THEY BEEN RESTATED, OR IS IT THE CASE THAT JUST GOING FORWARD THAT THE NUMBERS WILL BE DIFFERENT.

DR. LOWRY:  I was also wondering relatedly, will gross plant value or gross plant additions prior to 2014 be restated or have they been restated or is it the case that just going forward that the numbers will be different?

MR. VAN DUSEN:  I think we should add that to the undertaking, sir.

DR. LOWRY:  Yes, please.  Nice to see you, Greg.

Okay.  If we could go next to 1 Staff 33.  Actually, no, I'm sorry, 1 Staff 32.  So in response to part B, an attachment OEB-32A was provided.

MR. VAN DUSEN:  Yes, we see it.  We're getting it for you.

DR. LOWRY:  Okay.  All right.  So I was struck that there were sizeable gross plant additions in the year 2021 -- well, let me just say for the others who are listening on this that this was kind of an odd request to compute the revenue requirement associated with the gross plant additions.

And I was struck by the fact that in the first year there were 146 million -- that there was a sizeable addition to rate base, but that the impact on the capital-related revenue requirement associated with that was almost nil and that it seemed -- it seemed for that year that the big impact was to occur in the second year.

And I was just wondering, is that typical of how these sorts of things would be accounted for, that there's a tax impact in the first year that -- such that the main impact of a new addition to rate base typically occurs in the second year.

MR. VAN DUSEN:  So, Mr. Lowry, questions about tax should have been provided to Mr. Grue and Mr. Tejwani on panel 1 when they were here.

In terms of the pattern of gross plant additions, 2022 -- 2021-2022 will reflect the in-service addition of the Cambrian station, which is approximately $80 million over that period of time.

But in terms of the tax impact, I can't answer questions about the tax impact of that.

DR. LOWRY:  Well, I guess could that be taken as an undertaking, then, that for a given year's new additions to rate base, is (sic) the main impact on the revenue requirement typically occur in the second year due to tax considerations?

MR. VAN DUSEN:  Certainly.  We will take that undertaking.

MR. SIDLOFSKY:  JT4.8.
UNDERTAKING NO. JT4.8:  TO ADVISE WHETHER, FOR A GIVEN YEAR'S NEW ADDITIONS TO RATE BASE, DOES THE MAIN IMPACT ON THE REVENUE REQUIREMENT TYPICALLY OCCUR IN THE SECOND YEAR DUE TO TAX CONSIDERATIONS.

DR. LOWRY:  Moving to Interrogatory 1-Staff-33.  And go to the table that was provided, please.  There you go.

So when we asked for this, we were hoping to get numbers for your -- comparing your approved ROE to the ROE RRR for as many years into the past as possible.  Was that not possible to provide prior to 2012?

MR. VAN DUSEN:  Certainly the period from 2012 onwards was certainly the most relevant period, and certainly the information was readily available.

DR. LOWRY:  Because we were particularly interested in the general question of whether you had been -- how well the company had done prior to 2012, and whether in fact there could be evidence -- not that this is a bad thing -- under the rules of deferring capital expenditures to the future.  And this doesn't really help with that, because it doesn't go back to -- it doesn't go back to the period where that might have happened.

MR. VAN DUSEN:  So, sir, I will note in the preamble to this question Hydro Ottawa's capex has been markedly higher on average since 2012.

So I'm assuming we used that as a reference point for providing the data from 2012 onwards.

If you wish me to see if there is other data available for previous years, I could take that as an undertaking.  But I certainly think that the preamble led us to believe that 2012 was the starting date for the information.

DR. LOWRY:  Okay.  I would ask for that, inasmuch as in question A it actually says "for as many years that are available".  But I could see how that might have caused confusion.

MR. VAN DUSEN:  Yes, sir, we will undertake to do that.

MR. SIDLOFSKY:  JT4.9.
UNDERTAKING NO. JT4.9:  RE 1-STAFF-33, TO PROVIDE DATA PRIOR TO 2012 AND AS MANY YEARS AS ARE AVAILABLE


DR. LOWRY:  During -- this is one that maybe you would be in a better position to answer, Mr. Van Dusen.  During the period prior to 2012, did the company ever ask for an incremental capital module, or other ways of getting extra money for capex?

MR. VAN DUSEN:  No.  My understanding is Hydro Ottawa has not ever used an ICM or ACM previously.

DR. LOWRY:  Okay.

MR. VAN DUSEN:  Subject to check.  I wasn't here, but subject to check, that is my understanding.

DR. LOWRY:  All right. Moving on to 1-Staff-35, what we were interested in were tables like that which occur in the Distribution System Plan that show the approach of assets of certain ages.

An example would be figure 6.36.  And in the question, we asked for -- the response to part A talks about the way in which you come up with those kinds of numbers computing the -- sort of taking an inventory of the age of assets of the different categories.

What we had asked in response to -- in question B was, well, what was the earliest year for which that sort of an inventory was taken.  Because although it is too late to do it now, in the future, that type of data could be used to more properly integrate considerations of system age in the benchmarking.

For example, Hydro Ottawa has talked about how they wanted to take MPS out of the benchmarking, because they thought it was a once in a generation thing. Well, there might be a way of controlling for that, if we had that data.

And in response to part B that question was not really answered.  Like, if you take one of these inventories, detailed inventories of the ages of the assets, what was the earliest year that such an inventory was taken?  Like, would it have been five years ago, or even ten years ago?  Or was it just done for the first time with this filing?

MR. VAN DUSEN:  So I apologize.  I don't intend to frustrate you, Mr. Lowry, but that was a question for Laurie Heuff from our asset management organization.  I could not answer that question.  I can undertake to get it for you.

DR. LOWRY:  I apologize as well.  I may not have fully understood the way all of this worked, and to realize I should have reserved some time with a different panel.  I apologize as well.  But if you could provide -- if you could undertake to answer that question, I would appreciate it.

MR. VAN DUSEN:  Certainly, sir.

MR. SIDLOFSKY:  JT4.10.
UNDERTAKING NO. JT4.10:  TO RESPOND TO 1-STAFF-35 PART B


DR. LOWRY:  Now, in the filing -- now I want to go to the 1-Staff 37.  In the filing, there is talk about how in the previous custom IR filing that the -- that Hydro Ottawa advised the commission that they foresaw a period of at least -- of numerous years in which their capex would be elevated above normal levels.

And the -- I think they said, they implied it would go all the way through the end of this decade.  And this becomes important because with the stresses that the OEB has experienced in handling these custom IR proposals, one starts to wonder how many utilities really have to do this and for how long.

So I asked the question in part A of OEB 37:  "When does Hydro Ottawa expect its capex to fall to normal levels on a real per customer basis?"

And I feel like the response to that that was provided was not really forthcoming for the question.  There was something said in the response to part A that:
"As Hydro Ottawa nears its next rebasing period, it will fully update its Distribution System Plan and proposal level of capital expenditures that meets the criteria outlined above."


So I want to ask again, can nothing more be said about some sort of an anticipated glide path to normal capital expenditures?  And also, does the -- granted that the company has been asked to do planning in these 5-year stints, but do they not do planning on a longer time horizon than the 5 years?

MR. VAN DUSEN:  Mr. Lowry, there are several aspects of your question.  Let me take them one at a time.

Hydro Ottawa proposed through a rigorous capital planning process.  It up dates its Distribution System Plan on an ongoing basis and prepares it for rate filings as required by the Ontario Energy Board.

The system plan that we filed, and the evidence provided in our application and confirmed by Ms. Heuff when she was on the stand, was that we are going through a period where keeping up -- just keeping up with the aging demographics is requiring the level of expenditures that we put forward.

As I said earlier, the asset management organization actually provided what they thought was an asset needs forecast, which was $50 million a year higher in each of 2021 through 2025 and through the rationalization process -- which is described in detail in the evidence and in many interrogatory responses -- that level was brought down.

To go on to address kind of what is a steady state level of expenditure, obviously from our experience in the 2016-2020 period and our forecast in the 2021-2025 period, we have seen that the steady state for this period of years, these ten years, is at the approximately $905 million a year split between the various categories, including general capital.

So in terms of when do we catch up?  And when can we expect that the expenditures to reflect an ongoing steady state level?   I think for sure the evidence is not in on that yet, Mr. Lowry.

That is something, as this response says, that we will respond to when we get closer to the next period of time.

We take a look at the work we have done and all of the achievements we expect to get and the improvements we hope to get and with new information be able to take a look at what the proposal needs to be.

So that does not imply that the next application will be a custom, nor does it not imply that the next application will be a custom application.

DR. LOWRY:  Well, that was my next question:  Does the company anticipate operating under custom IR indefinitely.

MR. VAN DUSEN:  No, it does not, but I can't pass judgment on what we will propose for 2026, whether it be an IRM or whether it would be a custom.  It is too hard to say at this point in time, sir.

DR. LOWRY:  Okay.

MR. BROWN:  It is Patrick Brown, manager of regulatory policy and research.  If I can just supplement Mr. Van Dusen's response, just a few observations.

One, we do note in our evidence that the City of Ottawa is currently updating its official plan for the municipality and there are, among other things, sustained levels of population, economic growth that are forecasted for that next 20-year municipal official planning horizon.  So just as one example.

The official plan itself forecasts that the city will experience 16 percent population growth between 2016 and 2031.  So that's -- these are the types of metrics and measures that -- and figures and analysis that we actually take very seriously and need to take into consideration for our own system planning purposes.

In addition, in the previous three days of this conference there has been robust discussion around one of the initiatives that the City of Ottawa is also set to finalize, and that is a very aggressive, very ambitious renewable energy and greenhouse gas reduction strategy, under which there are some very significant objectives which the city is set to pursue.  This involves everything from a transition to greater electrification of transportation, potentially also greater transition to electrification of space-heating technologies for different customer classes or different demographics in the population, whether it is residential customers or commercial customers.

So which is all to say once the ink is dry on that strategy and there's more of an action plan that is in place, depending on the level of ambition on the part of the City there may be trickle-down effects to the distribution system.  And we simply don't know the full gamut of what that may mean, but it could very well entail more investments that we have to make in order to support the implementation of that strategy.

Just a final observation I would make -- or, excuse me, a final observation Hydro Ottawa would make, and we did allude to this in some of our responses to various interrogatories.  To the best of our knowledge, nothing in the OEB's Renewed Regulatory Framework report from 2012, from the rate handbook in 2016, or other seminal policy documents of that nature, there doesn't seem to be any provision or any discussion that, for lack of a better word, casts aspersion or casts doubt or scepticism on the prospect of the utility choosing to avail itself of the custom IR option for successive rate terms.

So it is a bit -- it gives us pause, and it is a bit intriguing and a bit surprising to have seen some of these interrogatories which essentially hint at, okay, Hydro Ottawa or utility X, when are you going to hurry up and stop using the custom IR option, because that type of philosophy just isn't articulated or captured anywhere in OEB policy itself.

So that is something that we think should be kept in mind.  There seems to be a bit of a disconnect or incongruence between that line of enquiry and what OEB policy itself actually says.

DR. LOWRY:  In response to a question from Mr. Rubenstein on Friday that occurred on page 94 of the transcript of the Friday hearing -- I will wait for a second to get that.  Okay.

So you make mention there of a --


MR. VAN DUSEN:  Sorry, sir, what page number?

DR. LOWRY:  I don't know what it was.  It wasn't the right page.  It was giving me pause.  Page 94, please.

MR. VAN DUSEN:  Thank you.

DR. LOWRY:  Okay.  There you go.  So in response to that, Mr. Van Dusen said that the internal audit department took a look at the rate application planning process and looked at the rate-setting options and so forth.

And I was wondering -- and sort of the upshot of it seemed to be that they confirmed on the basis of this review that custom IR made sense, at least for this time.

Is this -- is a report on this enquiry in the record in this proceeding?  And if not, could it be provided?

MR. VAN DUSEN:  I am pretty sure there is no report on the record with respect to this discussion.  Yes, there is some material analysis that could be put on the record with respect to this, yes.

DR. LOWRY:  It could also include a PowerPoint presentation, if available?

MR. VAN DUSEN:  I think that's what it ended up -- the summary ended up being, but let me verify.  Yes, we can provide something in response to this, sir.

DR. LOWRY:  All right. Thank you.

MR. SIDLOFSKY:  We will make that Undertaking JT4.11.
UNDERTAKING NO. JT4.11:  WITH REFERENCE TO TECHNICAL CONFERENCE TRANSCRIPT OF FRIDAY, JULY 17, 2020, PAGE 94, TO ADVISE WHETHER A REPORT ON AN ENQUIRY INTO THE RATE-SETTING OPTIONS IS AVAILABLE, AND IF SO, TO FILE.

DR. LOWRY:  So obviously the company has chosen not to go the price cap IR route.  But isn't it the case that if you were under price cap IR, that a lot of the company's capex needs could be addressed by an incremental capital module and also by a Z-factor mechanism or Y-factor mechanism?

For example, there's mention of a phase 2 of a light-rail project, and that would obviously involve costs for the company.  But in another -- on the price cap IR, wouldn't the cost of something like that or perhaps of various aspects of this beneficial electrification that you were talking about, this new greenhouse gas reduction issue, I mean, couldn't some of those things be addressed by a Z-factor in another regulatory system?

MR. VAN DUSEN:  So in response, Mr. Lowry, I will say that that is one of the options we considered in terms of an IRM with either ACMs or ICMs, as well as availing ourselves of the Z-factor.

I guess when we took a look at the overall level of the expenditures, the types of projects we were undertaking in the period, and the magnitude of the program, we felt that that was more attuned to a custom IR approach and that an IRM approach may entail many ICMs, ACMs, and Z-factors and would lead to less rate certainty for our customers and certainly potentially more confusion as well, and in the end we decided that, no, a custom approach was better for our customers and for the company.

MR. BROWN:  Patrick Brown, just the one addition I would offer is, our understanding is of what the Z-factor's purpose is is to serve as a mechanism to allow a utility to seek cost recovery for unforeseen events.  So if Hydro Ottawa is planning for customer needs, other infrastructure projects that are well-known and that have been signalled to us well in advance, it doesn't seem that the Z-factor provision would apply, given that it is intended to apply in circumstances where an unforeseen event occurs.

DR. LOWRY:  Do you have other concerns about price cap IR that haven't yet been mentioned here?

MR. VAN DUSEN:  Not that I know of, sir.

DR. LOWRY:  I think one thing that has been mentioned along the way is the zero percent base productivity trend that is typical -- I am -- just to get your thinking process going, is there anything else in sort of different aspects of price cap IR that is a problem?

MR. VAN DUSEN:  Well, in our circumstances we certainly did see it as not the best alternative.  We saw the custom approach as the best alternative.

The IRM we would see as potentially appropriate for a LDC that is in a steady state position, and has potentially only one major project that they would need to seek an ICM on.

So in a steady state, it's quite possible that an IRM would be the appropriate way to go, sir.

DR. LOWRY:  Okay.  My last question is linked to a question that Mr. Ladanyi asked on Friday, and it arises on page 196 of the transcript from Friday.

So he was asking the question of - I think he started by having a motivated by a concern about imbalanced incentives to contain O&M expenses and capital costs.

So he asked what would be an example of an OM&A project that you chose to undertake to reduce your capital expenditures.

And the initial reaction was, well, we have to -- maybe we will have to take an information request in order to answer that, and the undertaking is JT3.3.

So I would like to kind of, in my final question, to ask a supplementary and related question, because the big ticket item in this proceeding is the South Nepean MTS station.  And that's a load related project that is of the sort that would be a candidate for consideration of non-wire alternatives in some American jurisdictions.

So my question is, was any conservation or intensive peak load management undertaken that measurably reduced the costs of the South Nepean MTS?

MR. BROWN:  It's Patrick Brown.  I will field that question.  Just to reiterate, the South Nepean project was reviewed by the Ontario Energy Board in the context of a proceeding which preceded this rate application proceeded, namely a section 92 leave-to-construct proceeding involving Hydro Ottawa and Hydro One.

For purposes of that proceeding, there was ample -- there was abundant information that was submitted for the record which confirmed that in the regional planning context, there were numerous solutions that were examined for purposes of identifying the need -- excuse me, addressing the need that had been identified by the IESO for the south Nepean area.

We've spoken HR, I believe on day 2 of this technical conference, around how conservation measures, distributed generation were included in that mix of non-wires options that were very closely examined for purposes of the planning context, the planning cycle for south Nepean.

They were given extensive consideration by the IESO, by Hydro One, by Hydro Ottawa.  Ultimately, the determination that was reached was, given the nature of the need, the level of growth that has occurred, that's already occurring, that is set to occur in the south Nepean area, the magnitude of conservation measures and distributed generation would simply be more than could be accommodated in that area.  And thus that tipped the scales in favour of a station solution.

So we would emphasize that that was very, very extensively examined in the context of the south Nepean project.  It was given very rigorous consideration.

But ultimately, the determination was the nature of this need, the timing, the magnitude warrants a station solution.

DR. LOWRY:  Thank you.  That's my last question.

MR. SIDLOFSKY:  Thank you, Mr. Lowry.

MR. GARNER:  Jamie --


MR. SIDLOFSKY:  We will take our morning break now.

MR. GARNER:  It is Mark Garner.  Could I ask a follow-up question from Mr. Lowry's line of examination?

MR. SIDLOFSKY:  Go ahead, Mr. Garner.

MR. GARNER:  I know it may have been best for another panel.  It is just that I was thinking as he was asking these questions.

As I understand your proposal on capital -- and please correct me, if I'm wrong -- the proposal on your capital and how you are deriving your revenue requirement is actually independent of any specific project.  You are doing it on a dollar basis, not a project as I us in every year.

So the way I understand it, you have a DSP and certainly in the near years you expect that DSP to be executed somewhat in the fashion that's laid out.  But as the years roll out, the DSP becomes more uncertainty as to the need because of time.  Is that correct?

MR. VAN DUSEN:  Yes.  Generally, that's a correct statement, yes, sir.

MR. GARNER:  So you are not even making the commitment to spend within the four categories the Board has put out, and that's correct, isn't it?  If you end up saying, gee, general plant needed more money for X or Y reason than we anticipated in year 3, then that's where you will spend the money and you may cut back in system renewal because of that in order to manage your budget.  Is that correct?

MR. VAN DUSEN:  So certainly on an ongoing basis, we evaluate kind of the changes in the environment.  And to the extent that we need to shift capital from one area to another, either because of an emergency or because of a need that was identified that we didn't anticipate, the appropriate business action to take would be to shift capex towards more needed certainly, sir.

MR. GARNER:  In every year, there is no list that we can look at in each one of the years saying, you said you would execute X, Y and Z in this year, and you did or did 80 percent or 60 percent or 110 percent, whatever.  There is nothing like that that we would, in subsequent years, look at and say was the plan executed in the manner in which it was laid out.  That's correct, isn't it?

MR. VAN DUSEN:  There is a measure on the OEB scorecard that takes a look at DSP implementation, and takes a look at the planned work versus executed work.

I believe we have been at near the 80 percent level of that through the period of at least 2016 through 2018, maybe even 2019.

MR. GARNER:  Is that on a project basis when you say "execute the plan"?

MR. VAN DUSEN:  So it builds up from projects and programs, yes, it does.

MR. GARNER:  Hmm-hmm, okay.  Thank you.

MS. BARRIE:  I would just add that Hydro Ottawa is proposing a capital variance account, which does distinguish the buckets in terms of system access from the rest of the DSP as well as general plant.  So that capital variance account is structured on revenue requirement for each of the three buckets.

MR. GARNER:  Right, Ms. Barrie.  But I believe asked
-- VECC asked a question about that, as to how that account would be treated any differently than the other variance accounts.

Correct me if I'm wrong, but I recall the answer seemed to be that there is no difference in how that account is being treated versus the other accounts.  Am I wrong?

MS. BARRIE:  It's no different than it was being treated in the previous rate application, except for system access, which we were proposing to do on a symmetrical basis.

MR. GARNER:  Are you saying that that account or that category is not being treated on the same cumulative basis that the other three accounts are, or three areas are being dealt with?

MS. BARRIE:  It would be based on a cumulative basis.  However, on a symmetrical where the general plant is on asymmetrical.

MR. GARNER:  Asymmetrical, okay, thank you.

MR. BROWN:  Mr. Garner, if I may?  It's Patrick Brown, each panelist will have a kick at the question.

But the final feature to underscore here.  It is worth emphasizing that for purposes of annual reporting, Hydro Ottawa has tracked and will continue to track capital spending by investment category and then one level lower by budget program.

So in the annual reports that we submit to the OEB and to the parties, to our rate cases, we do indicate where capital expenditures were made, how that lines up with planned expenditures, not just for a given year but also on a cumulative basis, and where there is any variance.

So the annual reporting slice of this is one to bear in mind as well.

MR. GARNER:  Thank you, Mr. Brown.  Thank you, Jamie, for allowing me to go.

MR. SIDLOFSKY:  Okay.  Thanks, Mark.

So we're going to take the morning break.  Ten minutes.  We will continue with -- actually, we will conclude with this panel with questions from DRC.  For those of you keeping track of today's schedule, I will note that we have been advised by DRC that they won't have any questions for panel 4 or panel 5.  So that will -- that should shorten the day a little bit as well.  So we will see you back here in ten minutes with DRC.
--- Recess taken at 10:23 a.m.
--- On resuming at 10:35 a.m.

MR. SIDLOFSKY:  We will go back on the record now.  Thank you.  We will continue with Mr. McGillivray for DRC, concluding the questioning on panel 3.
Examination by Mr. McGillivray:


MR. McGILLIVRAY:  Thank you, Mr. Sidlofsky.  Can you hear me?

MR. VAN DUSEN:  Yes, we can, sir.

MR. McGILLIVRAY:  Good morning.  My name is Jonathon McGillivray and I am co-counsel with Lisa DeMarco for the Distributed Resource Coalition.

I have only a few questions and they focus largely on the relationship between electric vehicles and the updated load forecast in Exhibit 3, tab 1, schedule 1, attachment C, if we could go there to begin.

MR. VAN DUSEN:  Sorry, that was 3-1-1C?

MR. McGILLIVRAY:  That's it.  As I understand it, this was prepared by consultants that Hydro One -- Hydro Ottawa hired to perform its load forecast for the application.  And I also understand that this load forecast is, in fact, a long term electric energy and demand forecast.  Do I have that right?

MS. BARRIE:  So it's correct that Itron prepared the load forecast.  So in terms of long-term, it is for the 5-year custom period.

However, the load forecast is mainly driven by a kilowatt-hour and scaled for the demand forecast.

So it is not just demand forecast.  It is kilowatt-hour demand and customer count.

MR. McGILLIVRAY:  Thank you.  That anticipated my next question about long-term, and I did suspect that it would be a 5-year period.

If we could go to page 8 of this document, I just want to confirm a few things.  First of all, this forecast includes analysis of things like major residential end use intensities, is that right?

MS. BARRIE:  That's correct.

MR. McGILLIVRAY:  It also includes "residential other use intensities" is that right, on page 9?

MS. BARRIE:  That is correct.

MR. McGILLIVRAY:  And finally, it includes historical and -- this is on page 10, historical and projected commercial end-use intensities, and that is in kilowatt-hours per square foot, is that right?

MS. BARRIE:  That is correct.

MR. McGILLIVRAY:  Okay.  That's great.  With that context, I would like to move on to an IR response, and it's interrogatory response DRC 5.  It is part D of that response, and actually the last paragraph of part D, lines 12 through 14, I think it is.

And there I read that for the purposes of the load forecast that we were just looking at and as it is reflected in Exhibit 3-1-1, neither electrification of transit nor electric vehicles were called out for special consideration in that analysis.  Am I interpreting that correctly?

MS. BARRIE:  Yes, you are.

MR. McGILLIVRAY:  And that matches with your response in OEB Staff 50, part B, sub (i), or Roman (i), where it says that the load forecast "does not include the impact of electric vehicles as a separate variable".

I don't know if we necessarily need to go there, if I am interpreting that correctly.

MS. BARRIE:  Sorry, was that a question or you don't need to go there?  Sorry.

MR. McGILLIVRAY:  I am just confirming with you that the load forecast does not include the impact of electric vehicles as a separate variable.

MS. BARRIE:  Not as a separate variable, no.

MR. McGILLIVRAY:  I understand that it does include it insofar as electric vehicles could be captured in the historical data.  Do I have that right?

MS. BARRIE:  That is correct.

MR. McGILLIVRAY:  What does that mean?

MS. BARRIE:  So when your historical values help predict your future load forecast and, as a result, we have not removed any load related to past electric vehicles and therefore have not removed them from the load forecast, and then we continue -- they would be impacted by the economic factors just as any other load.  I guess that's a simplified way of saying it.

MR. McGILLIVRAY:  So they're baked into the existing data effectively, is that right?

MS. BARRIE:  Correct.

MR. McGILLIVRAY:  Okay, that's helpful.  Thank you.  I would now like to confirm with you a few of the pieces of evidence that we have in front of us that speak to the -- what I think are the energy and demand impacts of electric vehicles.

If we could go to interrogatory response DRC-8 and specifically attachment A to that interrogatory response, this is your asset planning document which is titled "Hydro Ottawa electric vehicle charging impact analysis".

If we could go to page 8 of that document, there is some information here about the number of electric vehicles in Ottawa, and how that number is expected to grow over the next several years out to 2039.

But part of this chart deals with the period through 2025.  Is that correct?

MS. BARRIE:  I could speak to the fact that the chart does go through the period of 2025.

MR. McGILLIVRAY:  And that it demonstrates some growth between now and 2025?

MS. BARRIE:  It does.  And we did discuss this chart, I think, on more than one occasion so far through the technical conference.

It is a growth chart.  However, one of the aspects of this is that most of the EV charging is behind the meter.  As a result, it doesn't end up creating an additional customer for Hydro Ottawa as it's already embedded in the customer load.

MR. McGILLIVRAY:  Okay.  Understood.  That is helpful.  Thank you.  If we could go to page -- I think it is the bottom of page 12 of this same document that speaks to system peak demand forecast and a few different scenarios.

If we just look at the 13 percent on-peak penetration scenario, even then if we look out to 2025, it looks like there is a bit of growth.  Perhaps not a lot, but it looks like it is higher than it currently is.  Would you agree with that statement?

MS. BARRIE:  So I can't -- this would have been a question to get into details with Laurie Heuff, in terms of the underlying data.

MR. McGILLIVRAY:  Sure.

MS. BARRIE:  My understanding is this is more on a system impact and not a load forecast necessarily.  So I just put that caveat to the data in front of us.

MR. McGILLIVRAY:  Well, I think that hits on a point I would like to get into it, and that is what is the relationship between sort of the system demand forecast and the load forecast.

I've got in front of me -- I could go through a few more examples of points in the evidence where Hydro Ottawa speaks to the possibility or likelihood of electric vehicle growth between now and 2025, I guess largely on a system forecast basis.

What I am trying to understand is why that would not be something that would be broken out as a separate variable in the load forecast.

I wonder if you could speak to that point, given your caveat.

MS. BARRIE:  Right.  So in terms of the load forecast itself, in terms of not overlaying a separate variable, one it is difficult to do that because it is behind the meter consumption, and therefore we don't have the ability to separate that load out from the customer's typical load.  And we don't also have enough data to rely upon to add an extra variable on the future load, in terms of adding that to the load forecast.

If we went back to the previous chart -- and it certainly does show growth -- the highest amount of growth you can see is definitely after the 25 period.  It is our expectation that a large percentage of the growth in that area is going to be on a residential side and behind the meter.

They are on a fixed price rate design.  So in terms of impacting the rates on a go-forward basis, that wouldn't have a significant impact in terms of that.

We don't -- I can't -- once again, I can't necessarily speak to all of the data provided in this particular document.  But the data that we have, in terms of looking at the load forecast and what we felt that we could reasonably add in terms of, for EVs, we didn't feel that the data was available in order to add another specific factor to load -- to add to the load forecast.

MR. McGILLIVRAY:  That's very helpful.  Thank you.  And noting the limitations with respect to data, do you believe that if better data existed and could be incorporated into the load forecast, would the load forecast look different for the next period for 2025 if electric vehicles were captured?

MS. BARRIE:  So the data that I've seen so far for the period of '21 to '25, I don't believe the load forecast would look significantly different.

I think the growth that we're seeing or anticipating may come would be as we get to the end of the forecast period.  And I think we'll have better understanding at that point in time.

But should some of these predictions come true, I think it would be the next period that we would see a significant impact on our load forecast.  So after 2025.

MR. McGILLIVRAY:  That is what I was just about to ask.  After the 2025 ends and you prepare a load forecast for 2026 through 2030, let's say, you expect there might be more of an impact of electric vehicles and perhaps transit electrification on the load forecast for Hydro Ottawa.  Do I have that right?

MS. BARRIE:  So that would be the expectation based on the current information.  So obviously some of these factors could change by the time we get to preparing the load forecast for that period of time.

MR. McGILLIVRAY:  Okay, understood.  Thank you very much.  Those are my questions.

MR. SIDLOFSKY:  Thanks, Mr. McGillivray.  That concludes the --


MR. RUBENSTEIN:  Jamie, before we --


MR. SIDLOFSKY:  Sorry, Mr. Rubenstein.

MR. RUBENSTEIN:  Can you hear me?  [Audio dropout] issues --


MR. SIDLOFSKY:  Sorry.  Mr. Rubenstein, sorry, Mr. Rubenstein, it might just be me, but you are kind of breaking up there.

MR. RUBENSTEIN:  Yes.  Can you hear me?

MR. SIDLOFSKY:  Yes.  But you are kind of slow, your voice is a little slow.

MR. RUBENSTEIN:  Okay.  So you can't hear me well enough to ask a question?

MR. SIDLOFSKY:  I will leave that to the panel, I guess.  On my speaker you are lagging a bit.

MR. RUBENSTEIN:  Okay.

MR. CASS:  Mark, I would say more than a bit where we're sitting.  Your words are long and drawn out as we're hearing them.

MR. RUBENSTEIN:  Can you hear me now?

MR. MUKHERJI:  I can.

MR. RUBENSTEIN:  All right. I have called in.  Thank you.

I just had a question.  And I would ask Hydro One (sic) to -- I apologize for this.  As I was going through my notes for this panel -- or for the next panel, I noticed I had missed a question from a previous panel.  I would ask -- I will pose it to the panel and I would ask if Hydro Ottawa could undertake to provide an undertaking to respond to it.

MR. VAN DUSEN:  Go ahead, sir.

MR. RUBENSTEIN:  Sure.  At page -- let me make sure I have it here.  At Exhibit 2, tab 4, schedule 1, page 15 -- and I apologize, I don't have the screen.  I can't see you, so let me know if you can pull that up.

MR. VAN DUSEN:  We have it, sir.

MR. RUBENSTEIN:  At line 25 there is a discussion about what the variance between the approved and actual in-service additions for the general plant category.  And at line 29 it breaks it down into the three reasons -- or, sorry, the two categories of reasons.

And I was wondering if you could undertake to break those down, because I was unable to find it in the evidence where I could actually find out what -- of the variance of I believe about $14 million for the general plant category, what is related to the true-up of CCRA payments, what is related to scope changes for of ERP, and if there is a smaller section of other elements.

MR. VAN DUSEN:  Yes, we can undertake to do that, sir.

MR. RUBENSTEIN:  Thank you.  Appreciate that.

MR. SIDLOFSKY:  Thank you.  That will be Undertaking JT4.12.
UNDERTAKING NO. JT4.12:  RE EXHIBIT 2, TAB 4, SCHEDULE 1, PAGE 15, LINE 25, THE VARIANCE BETWEEN THE APPROVED AND ACTUAL IN-SERVICE ADDITIONS FOR THE GENERAL PLANT CATEGORY, TO PROVIDE A BREAKDOWN OF THE $14 MILLION.

MR. SIDLOFSKY:  Was that it, Mr. Rubenstein?

MR. RUBENSTEIN:  Yes, it is.  Thank you very much.  Appreciate it.

MR. SIDLOFSKY:  Okay.  Thank you.

We are going to -- so we are now finished with panel 3.  We will take -- we will start the clock at ten minutes, but if you need a few more minutes, Mr. Van Dusen, just let me know, for cleaning in your area.

We will move on to panel 4.  For those of you who are keeping track of the schedule, we have been advised by DRC that they won't have any questions for panel 4 or panel 5.  So that takes BOMA and DRC out of both of those panels, which means we should -- the way the schedule is looking now, we would be looking at finishing panel 4 just before we break for lunch.  So I would like to suggest that we try for that kind of timing.  We will break for lunch after panel 4 and conclude with panel 5 in the early afternoon.

So let's take a break now.  We will start off with ten minutes.  Mr. Van Dusen, let me know if you need more time.  All right.
--- Recess taken at 10:53 a.m.
--- On resuming at 11:04 a.m.

MR. SIDLOFSKY:  Mr. Van Dusen, are you okay to start with panel 4?

MR. VAN DUSEN:  Yes, we are.

MR. SIDLOFSKY:  Thanks I am just going to ask Mr. Lowry to or Dr. Lowry to take off screen share, please.  Thank you.  Okay.

MR. SIDLOFSKY:  We are back.  We're going to move right into panel 4 at this point.

Mr. Cass, perhaps you could introduce your panel.

MR. CASS:  Yes, thank you, Jamie.  The final Hydro Ottawa witness panel is comprised of Greg Van Dusen and Steve Fenrick.

Steve Fenrick, as I think most people know, is a principal consultant with Clearspring Energy Advisors.

As before, I'm here in the Hydro Ottawa Board room where Greg Van Dusen is.  Steve is joining us remotely, as you probably all can see.
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These witnesses are ready for questions.

MR. SIDLOFSKY:  Thanks, Mr. Cass.  We are going to go ahead with Board Staff.  I believe it will actually be -- Mr. Ritchie are you going first, or will that be Dr. Lowry?

MR. RITCHIE:  Keith Ritchie here, OEB Staff.  I have no questions.  I believe it will be all by Dr. Lowry.

MR. SIDLOFSKY:  Thank you.  Dr. Lowry?
Examination by Dr. Lowry:


DR. LOWRY:  Good morning, Steve.  Nice to see you again.

MR. FENRICK:  Good morning, Mark.

DR. LOWRY:  The first question might be -- Mr. Van Dusen, if you can't answer this, I don't even know that a record request is required.

But in response to 1-staff 22, I asked a question about the scope of Hydro Ottawa's high voltage activities.

My first question is:  At what voltage does Hydro Ottawa typically receive power?

MR. VAN DUSEN:  It receives power -- you know what?  I would be guessing.  I am going to stop.  I am pretty sure I know, but I am going to say if you need an answer to that, I will get it from my asset management people.

DR. LOWRY:  And relatedly, what is the typical reception point?

MR. VAN DUSEN:  The typical reception point would be our distribution stations.

DR. LOWRY:  At the high end?  The high voltage end or low voltage end?

MR. VAN DUSEN:  It usually comes into our stations at high voltage and is stepped down to the distribution voltages which are, I think, 44.7, 27.7 are the kind of typical voltages.

But once again, I am going to take that subject to check.  The -- go ahead.

DR. LOWRY:  Granted it is subject to check, but is it typically received at the 44 kV?

MR. VAN DUSEN:  I believe in many cases it is actually received at 115.

DR. LOWRY:  Okay.  So the company doesn't really operate -- would this be correct, that the company doesn't really operate any 115 kV lines?

MR. VAN DUSEN:  Subject to check, yes, that's correct.

DR. LOWRY:  Okay.

MR. SIDLOFSKY:  Sorry, Dr. Lowry, I am going to stop you there.  Do you want the undertaking for that information?

DR. LOWRY:  No.  I don't think that will be necessary.

MR. SIDLOFSKY:  Okay.

DR. LOWRY:  The next question would be for Steve, and it pertains to 1-Staff-23.

So here the question is about that obscure but oft discussed topic of the benchmark year adjustment, or the first year for which capital cost is calculated.

We asked a question about -- we broached the question.  And when Steve responds, he mostly is talking about the US and how much it really wouldn't matter to use the older US data that are available.

Our focus in this question is more about the benchmark year for Hydro Ottawa.  Notwithstanding the fact that sometimes using a 1964 benchmark year that American data makes possible may not have that much impact on results, particularly in quite recent years, isn't it the case that the benchmark year does matter for Hydro Ottawa, that you would get a different result if you used a different benchmark year, a considerably different result?

MR. FENRICK:  Yes, Mark, that's accurate, that you would get a different result with a different benchmark year.

DR. LOWRY:  And you or the company -- it's not clear in this case who might have taken a pen to write some of these responses -- are concerned that to roll the benchmark year back to 1989, which has been traditionally done in Ontario for most of the utilities -- for example that's what the TFP results are based on, I think, for most companies.

So you have a complaint -- you have a concern that there would be these imputations involved in rolling the benchmark year back to '89.

But my next question is, well, if you use a 2002 benchmark year, aren't you basically commencing an imputation for those years and all prior years as well?  So there's going to be an imputation involved in any event.  Isn't that right?

MR. FENRICK:  There are certainly assumptions that go into the capital benchmark year.  So we're using the 2002 benchmark year and there's certainly assumptions that are being made into that calculation, that is true.

However, I see this as a difference of we're taking the data as it is recorded and then making those standard kind of traditional assumptions on the triangularized weighted average that PEG and we make, you know, all the time, versus going back to 1989, you do have to make some added estimates or assumptions on the retirement rates.

To the extent that those aren't accurate, you are changing the results without being based on any sort of recorded data.  I think that's the gist of our concern here.

DR. LOWRY:  Usually, isn't the case, though, when you do a benchmark year adjustment, you don't know anything about the pattern of capex prior to that.

Whereas in this case, for Hydro Ottawa and for many other Ontario distributors, you do have some information about the size of the capital stock in earlier years.

So why wouldn't you want to use that information?  Why isn't it better to use that information than to just make the simple assumption.  You could move the simple assumptions back to 1989, when they would do less damage to the accuracy of the exercise.

Why wouldn't you want to use that extra data that we do know to exist for Hydro Ottawa and for other Ontario companies?

MR. FENRICK:  The problem I see with that, Mark, is you have to make that assumption on that retirement rate.  So I believe PEG made an assumption of 0.5 percent -- correct me if I'm wrong on that.  But to the extent on those recent years of 1989-2002, you know, you're making that assumption and given that those are kind of the more recent -- you know, recent in the relative term here to 2002, to the extent those aren't accurate you would be biasing that calculation versus using the standardized method of 2002 as a capital benchmark year and using the recorded data.

So, you know, that's the issue I see.  To the extent your assumption is correct, which we don't know, then I would say yes, going back to 1989 would be preferable.

But we have no idea whether that assumption is accurate or not.

DR. LOWRY:  So as I was saying before, I believe that this year we used in the past in computing the TFP trend of the Ontario industry we've used 1989 wherever we could, using this kind of imputation.

Is it then your view that if we revisit this in the next year or two or three and recompute the TFP trend of the industry, that we should stop using an '89 benchmark year for most companies?

MR. FENRICK:  For the Ontario sample?

DR. LOWRY:  Yes.

MR. FENRICK:  Yes, yes, I think that would be my view.  That would also align -- if we go back to the fourth-generation IR proceeding, there were a number of utilities that did have a 2002 benchmark year because they didn't have the gross plant in-service data available.  You know, for instance, Hydro One I know is in that category.

And that would put everyone on the same playing field, if you will, and we wouldn't have to make that assumption of the retirement rate.

DR. LOWRY:  Isn't it true that there are only about ten companies that -- where the 2002 benchmark year is used?  Now you're saying that another 60-some-odd companies should also get that treatment.  That's what you're saying?

MR. FENRICK:  Yeah.  Ten sounds about right.  Yeah.  I would say using the actual data that's recorded rather than kind of making guesses or estimates is the way I would prefer.

DR. LOWRY:  Okay.  So let's go to 1-Staff-25, which treats of a forestation variable and I think the weather variable as well.  And these are some real -- a lot of these questions are really arcane.

So when you compute the forestation variable, I believe it is the case that there are some land types that are thrown out of those calculations.  And we were just wondering -- and you might be able to remind the listeners what those land types are.  And then what's the approximate size of those and why do you throw those out of the calculation?

MR. FENRICK:  The land types, as far as the ones that are excluded from the calculation mark, they're the ones that are designed as unforested.

Subject to check, I believe there's one category that the Canadian utilities do not report.  I believe it's the 40, which is the closed/open broadleaf evergreens or something, deciduous forest category.  The Canadian utilities and the GIS did not have that category.  So we excluded that for all of the sample utilities, as well as I believe we throw out water values as well from the calculation.  And that's simply to put all of the utilities on the same playing field, if you will.

DR. LOWRY:  Now, are the area -- is the area that you use in these calculations the same as you use when you compute the percent CU variable?

MR. FENRICK:  No.  The percent CU variable I believe comes from plants as far as the service territory area of the utility.  Now, the CU variable itself was a manual process, I think you are aware.

DR. LOWRY:  I knew.

MR. FENRICK:  But the forestation variable, the GIS experts, system map of the service territory, you know, overlaid it with these kind of low cover 2009, which came from the European Space Agency, for land area types, overlaid that.

I think to the extent that there were no designations for that overlaid map on the globe cover, you know, they calculate the variable percent forestation variable, we took you know, the land type area that was designated as forested by the European Space Agency, divided by the total area that was designated by the European Space Agency.

So they would not necessarily match due to kind of that difference.

DR. LOWRY:  And this question has kind of come up before about, in your data it seems like when you went to compute the percent CU variable that you also had some estimates of urban, rural, and when we ask about this you wave us away and say, well, those aren't really ready for prime time.

But where did those come from?  And what's wrong with them?  Because they could be potentially useful if they were accurate.

MR. FENRICK:  Well, yes, if they were accurate they could be useful.  Those came from, my understanding -- again, I wasn't the main person in charge of calculating this variable, but they came from public sources that designated areas as rural or urban, but that was not based on our examination of what's driving costs for the electric utility.  You know, there we only examined the congested urban service territory.

So those urban and rural maps just come from public sources.  I don't know if we provided those.  I know we provided them in another proceeding.  I think maybe Toronto Hydro, I am sure, we discussed where those came from.  But those were not examined manually in any sort of fashion or correlated with how the engineers would expect costs to be impacted by the land type.

DR. LOWRY:  So next and final question about forestation.  How does the Universite Catholique then treat forestation in suburban areas?  Is it just like -- like, basically, the same they would have if it was non-urban, just looking at clusters of trees, and is that basically the case.

MR. FENRICK:  Yes, that is my understanding, Mark, is, you know, you have these pixels or clusters in the GIS, and they're looking at those in the same way that suburban or rural areas.

DR. LOWRY:  Okay.  Let's move on then to the weather variable.  We played around with that with our own model.  We didn't have as much luck with it as you.  And one of the first things we did was just to break it up into the HDD, the extreme HDD and the extreme CDD.

And so I guess my first question is, why did you combine the two?  Why didn't you treat them separately?  And if you had treated them separately would you expect both the HDD and the CDD to have positive and highly significant signs, and did you actually look at that, and if so then why did you combine them?

MR. FENRICK:  Our thought process in combining them was, you know, we're trying there with that variable to measure the challenge of serving in extreme temperatures, and the challenge there is basically the same for extremely hot areas as well as extremely cold areas, is that, you know, crews and, you know, the line people need to -- you know, the productivity of their work is going to be hindered by the extreme temperatures.  They have to go in the truck and either warm up or cool down and, you know, there's going to be some other restraints on them due to the extreme temperatures, so that is essentially why we combine them, thinking when faced with extreme temperatures the crews are going to have these challenges.

We did find what PEG found, in that when you break them up you don't get the expected signs on one or the other of the variables.  So when you combine them they did come in as expected.  So that's another rationale.

DR. LOWRY:  You mean, so -- and you did try them separately and it didn't work out so well?  It was supported better if you took the two of them; is that right?

MR. FENRICK:  That's correct, yes.

DR. LOWRY:  Okay.  You said that the effect of extreme HDD and CDD -- expected effect would be the same.  But isn't that an empirical issue?

MR. FENRICK:  Certainly empirically you could estimate that.  I think it's -- on some level it is a common-sense issue that when temperatures get extreme, you know, the crews are going to need to go into the trucks and, you know, drink some water or cool down in the AC if it is hot, or vice versa, warm up hopefully get some hot chocolate or whatever.

So, you know, those impacts, to me are fairly similar, that, you know, the productivity is going to likely drop in those extreme temperatures.

DR. LOWRY:  In the case of extreme heat, I just recall hearing about transformers boiling over and things like that.  I mean, isn't that different?  And of course in severe cold, you could imagine -- I mean, not just this matter of hanging out in the trucks like you were talking about, but you could imagine certain consequences of severe cold as well, right?  It wouldn't necessarily be the same.

MR. FENRICK:  Yeah.  I mean, to the assets, it is kind of outside of my knowledge base.  But yes, you could imagine those differences.

DR. LOWRY:  Okay.  Now, I believe the variable you use is time variance.  And I guess my next question is does it make more sense for that variable to be time variant or time invariant, and did you try the time invariant version?

Because I mean the one is going to get you the consequence of a really cold winter.  But on the other hand, maybe some aspects of the system are designed to anticipate these extremities.  But that's, you know, year in year out.

MR. FENRICK:  Right.  We did not try the time invariant.  We calculated the time variance one that changes year to year based on the actually-observed weather temperatures.

You know, I think there could be some merit to what you are saying as far as, you know, the utility -- say Hydro Ottawa for instance -- serving an extremely cold service territory may have to construct its assets and just make plans for its crews and stuff to account for those extreme temperatures that are kind of a baseline or expected level.  But we did not try that in the model.

DR. LOWRY:  I would like then to move to SEC-18, please.  So in this case, I believe that Mr. Rubenstein asked for -- expressed an interest in this decomposition of benchmarking into OM&A and capital costs.

And that you guys didn't do it, thought it was too much work.

But setting aside the amount of time you had to develop these models, I will ask you do you think it is generally constructive to have these decompositions.  For example, I mean one of the things I note about it is that it doesn't take that much incremental work to do it because you can start out with variables from the total cost model, try them.  And you can, you know, you can spend a certain amount of time thinking of special variables for the other two, but really you could get a pretty -- you can probably gather a pretty decent model pretty quickly.

So what do you think about the general idea of, in these proceedings, do you think that the parties and Board benefit from these decompositions?  Is it worth the effort?

MR. FENRICK:  I have been thinking about that, Mark.  I think there is value if they're taken cautiously.

As you are aware, decompositions of these models do have some obstacles and some pitfalls I think, you know, intervenors need to be aware of.  The minute you start separating capital and OM&A, you know, now we're subject to how the utilities in the sample are capitalizing in those differences, as well as the substitution impact between capital and OM&A.

And so, you know, my view is that a high level total cost view is the most appropriate one, especially when designing stretch factors and really things that have consequences, if you will.

I think the decomposition could be useful at the utility level to see potentially where are deficiencies and, you know, maybe inefficiencies and you know, to take those decompositions and to try to learn from them.

But I think from a regulatory perspective, there could be some use, but I worry that they're going to be misused and taken -- you know, we're going to move away from the total cost framework that PEG helped develop and I think that is a very strong framework to be using as far as, you know, consequences such as stretch factors and things like that, whereas these desegregated models do suffer some issues that could be taken out of context.

DR. LOWRY:  Isn't it the case that when you have a company witness and a staff witness and there's interaction between them, that in general that the methodologies improve over time and that that would be true in this case as well, that with every passing case, the models would likely get more reliable and there would be, you know, some consensus established about how to do them, and that that would apply in this case as well?

MR. FENRICK:  Perhaps.  Although your list of concerns about our research never seems to shrink, Mark.

But I would say, you know, in this case, you know, and for the total cost model, frankly -- and I think you mentioned this on the prior panel, you know, I think moving towards some sort of capital age measure, for instance as one example where we could really take a step forward as far as measuring this aging infrastructure issue both in the total cost model perhaps, that is kind of a grey area as to whether you include that variable or not.  But take the OM&A model and things like that where a capital age variable could drastically increase the precision, especially when we're dealing with companies that, you know, likely have aging infrastructure problems.

I think if we could actually accurately measure capital age and its aging infrastructure challenge, I think there would be a lot less concern from intervenors about the company's proposal, if they actually could see, you know, here's a quantifiable empirical proof, if you will, of the capital age and why the company needs to be asking for more capital expenditures.

Right now, unfortunately, you know, from people like me and you, we can't provide necessarily that assurance to intervenors of the empirical issue.

I think over time we could work on that, go back and forth and try to improve these models.

MR. VAN DUSEN:  I was wondering if I could jump in here?  It's Greg Van Dusen.

In terms of the question of capital escalators, OM&A Escalators, total cost benchmarking studies and different approaches, certainly those are all things that are worth studying, perhaps a generic proceeding from the Ontario Energy Board to further its custom incentive regulatory framework and some of the direction around it.

But in terms of what Hydro Ottawa selected, we selected an approach that had an OM&A escalator and did not include a capital escalation factor.

There are other utilities that have attempted it and have used it, and it was our judgment for our circumstances, and totally consistent with the rates handbook and the custom framework, that our approach was developed.

DR. LOWRY:  Mr. Fenrick, with respect to what you were saying about the development of an age variable, in the absence of an age variable and since the common approach to measuring capital cost in Ontario is this geometric decay approach, when assets are replaced, that is registered as a decline in cost performance, just as it would be registered as a decline in productivity.

Do you think there is something to be said for doing it that way, even if eventually you have an alternate view that controls for capital costs?  But is there something to be said for a company's stretch factor to go up, if they're doing a lot of replacement capex?

MR. FENRICK:  I think that depends on what the total cost benchmarking would have to say for that utility.

So, you know, if the utility is experiencing a capex surge, however, you know, its total cost results look, I mean, still, you know, even in the midst of that capital surge, you know, the total cost results are still in that normal range, if you will, I don't think an extra stretch factor would be justified in that case.

You know, I think we should look at the total cost results of that capex surge and, you know, so if the utility is efficient, maybe it's, you know, in some ways efficient because it has aging infrastructure and, you know, all of that is depreciated.  You know, I don't think we should just add a stretch factor because the utility is experiencing a capex surge.  We should be looking at, you know, what does the total cost benchmarking have to say, you know, in the midst of that capital surge.

DR. LOWRY:  Okay.  I would like then to address your attention to 1 Staff 36.  And I asked the question in part C of that question.  You can see it says:
"Do utilities serving rapidly growing metro areas tend to have faster or slower productivity growth?"

And I asked this because Hydro Ottawa is inclined to add to its list of challenges the fact that it has customer growth of around a little over 1 percent.

So their response is that, we haven't conducted any detailed studies to answer that question, but you estimated productivity many times, and I will just ask you what your own opinion is looking at gas studies, electric studies, does, you know, a city like Las Vegas tend to have more rapid customer growth than a city like Rochester, New York, with a very slow customer growth?

MR. FENRICK:  I think that there are available economies of scale to some level, you know, and at some point they likely are exhausted.  And the productivity growth would come during that -- in that period of more rapid growth while the utility is smaller and hasn't exhausted those scale economies.

So generally I would say, yes, I would expect productivity growth to be higher the more rapid the output growth is.  However, I would say in this proceeding Hydro Ottawa put forth an escalation factor in its revenue formula and marked that down considerably.  I think it is .4 percent, even though customer growth is, as you said, exceeds 1 percent.

So in a way that, in my mind, is -- and I think you said this as well in one of your responses -- that is kind of on the low end, that .4 is on the low end of what might be reasonable.  And I would agree with that.  I think in a way that is an implicit stretch factor already that the company is putting on themselves, you know, putting forth a pretty low escalation formula for customer growth.

DR. LOWRY:  Now, you said a moment ago that you are basically implying that the productivity -- the economies of scale would depend on the size of the company, and then at some point companies exhaust their scale economy.

But Hydro Ottawa is well below the sample average in size.  So wouldn't they be a candidate to benefit from customer growth, in terms of scale economies?

MR. FENRICK:  Yes.  I would say they're below average as far as size in the U.S. sample that we're using.  So they would be a candidate.  I don't think it is going to be to the extent that they have marked down their escalation clause, you know.  However, there would be likely higher productivity growth possible for them versus the utility, like you said, Rochester or someplace that would have zero percent customer growth.

DR. LOWRY:  Okay.  I would like to now close out my questioning with a few questions about the matter of econometrics.

I have aspired to find consensus with utility witnesses on various benchmarking issues so that the panels aren't burdened with a lot of controversy that they have a hard time many understanding.  This is one issue where I don't think we have made much progress.  I was thinking maybe in the next five minutes we could make a little bit of progress.

So take note to begin with part -- with question (a) of 29, of OEB 29.  It says:

"Please confirm that auto-correlation reduces the efficiency of parameter estimates and explain what efficiency means in this context."

And, I don't know, I didn't find your answer to that to be particularly on target.  We're talking here, you know, so let's satisfy for a moment the issue of the effect of auto-correlation on that standard error that to the layman is used to kind of gauge the efficiency of a parameter estimate to decide which variables go into the [Audio dropout]

So setting that aside, there is the matter of the efficiency of the estimate of the parameters that are actually used in benchmarking.

So can you explain what efficiency means in that context and confirm that auto-correlation is a problem for that notion of efficiency?

MR. FENRICK:  I think we both agree, Mark, that auto-correlation is a problem and it does reduce the efficiency of the model.  I think where we're disagreeing -- and if we can come up with a consensus in the next five minutes that would be great -- I think where we're disagreeing is the parameter estimate in the model that we're developing using the Driscoll-Kraay method is not any less efficient or less accurate than the one that you are developing in the Prais Winston estimation procedure.

You know, those are both -- and frankly, your parameter estimate, if your assumption -- your underlying assumptions are correct, is not any worse than ours as well.  But with the caveat your assumptions have to be correct in those adjustments that you are making, both of those parameter estimates are equal.  They're not -- they're not any worse or better than -- the issue becomes in the standard errors in calculating the standard errors when auto-correlation is present, and, you know, that is what we addressed there.

You know, I did have a professor at the University of Wisconsin in, you know, both of our former departments look at this, you know, and that is exactly what he said as well.  You know, he found econometric -- schedule of econometrics, and he said, no, those parameter estimates cannot be improved upon that we're using, and -- but he also said, you know, in your defence, if those assumptions that you are making, underlying assumptions, are accurate, your results can't be improved upon.  They're in a sense equal.

But my problem is you do have to make those assumptions, those underlying assumptions, and we don't know the accuracy of those when you are making your corrections.

DR. LOWRY:  Okay.  But again, can you explain to the layman if an estimator of the model parameters like the effect of customer growth on cost is inefficient due to auto-correlation, what does that mean?  I mean, a lot of them don't understand that.

MR. FENRICK:  I think of it in bell curves, so you can have two bell curves.  And each bell curve in the middle points can be the expected -- the best expected value of that parameter estimate.

Where efficiency comes in is how spread out that bell curve is.  And in the presence of auto-correlation that estimate for how spread out that is and, you know, that standard error that we're talking about, how spread out that bell curve is, is inefficient and could be improved upon by an auto-correlation correction.

But that point estimate, kind of that middle of that bell curve, that is just as accurate using the OLS or just a Driscoll-Kraay, like we do, or your Prais Winston, assuming the assumptions are correct.  That point estimate, kind of the middle of that bell curve, those cannot be improved upon.

I know you are not a layman, so I don't know if that will help the layman or not, but...


DR. LOWRY:  When you say can't be improved upon, it is just another way of saying that they're unbiased, right, because with the OLS that you are using, the range of possible dispersion from the true value is wider and that's what efficiency means, is that it is like if you're firing at a target and the bullets are wider around the middle but they surround the middle, with the OLS it is more of a scatter-shot and that's what efficiency is, right?

MR. FENRICK:  No.  I think you have a misunderstanding.  When we do -- when there's auto-correlation present, the OLS estimates the point estimate.

The problem is, and kind of your analogy with the bull's eye, we don't know the range of possible outcomes due to auto-correlation.  You know, the fact that our auto-correlation exists skews, if you will, that bell curve or that bull's eye, if you will.

So that is why we do the Driscoll-Kraay correction to get a more accurate view of that bull's eye because we're coming up with a point estimate, but as you know, that is an estimate.  It's not, you know, it's not necessarily the truth.

What the truth is is within that bell curve, you know, there's confidence intervals.  And so with the Driscoll-Kraay method and with your method, we're trying to tighten or get a more accurate view of what that confidence interval should be.

But the point estimate itself is unbiased and it cannot be improved upon, you know.  That's the point estimate based on the procedure.

DR. LOWRY:  Well, again, how can you say it can't be improved upon?  It's biasness cannot be improved upon.  But its more of a scatter-shot with the OLS estimates.  Isn't that true?  And that that's what, you know, the methods that we use are trying to reduce the scatter-shot nature of the parameter estimates for the model.

I mean, are you denying that that's what the goal is of FGLS?

MR. FENRICK:  Mark, what you said, that is why we use the Driscoll-Kraay method.

DR. LOWRY:  That is in a measure -- that is a measure of how scatter-shot it is.  So you're saying it is focussing on getting the best measure of how scatter-shot it is.  But it isn't addressing the fact that it is a scatter-shot.  Isn't that right?

You are saying you are not going to -- that you can't, you can't reduce how scatter-shot the parameter estimates are.  Isn't that what you are saying?

MR. FENRICK:  Right.  The variance is what the variance is.  And you come up with the best estimate and the OLS does come up with the best -- or not best, but equal estimate.  Again, however your method, you know, the problem I have with it is you're making an underlying assumption and that does impact the parameter estimates and those cannot be improved upon.  Because, yes, like all econometrics is a scatter-shot.

You would say your method is a scatter-shot.  What we're trying to do is estimate with the Driscoll-Kraay method and addressing auto-correlation with the Prais Winston, you're trying to correctly define what that scatter-shot is, you know, how much error do we actually have.  You know, that's why this is an issue of standard error.  How much error in our estimates are do we have to give people confidence intervals and those types of things.

It's not an issue with the parameter estimate.  It is not an issue with trying to come up with a better parameter estimate.  It is an issue of the standard error and getting the proper standard error calculated.

DR. LOWRY:  Are you then saying when they call a GLS type of an estimator, a best linear unbiased estimator, that they're solely referring to the estimates of the standard errors and not to the estimates of the parameters themselves?

MR. FENRICK:  Could you cite -- when you say "they", could you cite where it says the Prais Winston is blue compared to Driscoll-Kraay?

DR. LOWRY:  That I am not addressing here; we're just talking in general terms.   Well, let's...


MR. FENRICK:  Mark, just a minute.  You said "they", and we asked you that interrogatory.  They provide something that says your method is better than the Driscoll-Kraay.  And you have been unable -- when you say "they", that's kind of a misleading question and it is not a fair characterization of what we're discussing here, because that -- you cannot provide that because it doesn't exist, because it is not true.

DR. LOWRY:  Okay.  It is going to seem to other listeners that we're kind of haggling, so I want to wrap this up.  But I have a related question on this.

In your response to our interrogatories, you talk about some criticisms of some particular FGLS methods, FGLS being the general category that we use.  So they are mostly about something called a Parks-Kmenta method and there are some comparisons in this one article with a Parks-Kmenta method and another method that basically, as I understand it, involve a different auto-correlation coefficient for each company in the sample.

But that is not what we do.  And so, you know, we have just assumed there is one common auto-correlation coefficient; that is what this Prais Winston method does.

So I am going to turn around what you just said and ask the analogous question: Can you cite any specific article that specifically compares this Driscoll-Kraay to the Prais Winston and says the Driscoll-Kraay is better?  Or isn't it the case that many of your criticisms apply to a particular approach of FGLS that we don't use?

MR. FENRICK:  Do you think Prais Winston is overly optimistic as far as standard errors?

DR. LOWRY:  I am asking the questions.  I don't have a quick response to that.  I wasn't -- can we go back to my question?

Isn't it the case that you have used examples where the criticism is of a particularly complicated approach to FGLS that we don't use?

MR. FENRICK:  Right.  I think the first thing I would say, Mark, is I am not the one levelling these criticisms.  You are the one levelling the criticism against the Driscoll Kraay method that we used initially.

And I have said that your method is just as appropriate, you know, assuming your assumptions are accurate -- which I think you would agree with, although you might not agree they are just as accurate, but you agree your method is accurate, assuming your assumptions are correct.  So I have never said that your method is inferior, assuming.

My problem is you have to make these assumptions for it to be equal.

So I am not the one levelling these criticisms in this case.  You are the one saying the Driscoll Kraay method is inferior without any sort of citation.  And so I think the onus is on you to support that, not on me to support something where I am saying, you know, that I'm not using the scatter-shot analogies and things like that.  That is on you.

DR. LOWRY:  Okay.  Well, I sense that we have exhausted the patience of the attendees today with this debate.  So I think we did make a little progress, and I will leave my questions there.

MR. FENRICK:  Thanks, Mark.

MR. SIDLOFSKY:  Thank you, Dr. Lowry.  We are going to move on to Pollution Probe now.
Examination by Mr. Brophy:


MR. BROPHY:  Good morning.  It is Michael Brophy on behalf of Pollution Probe.  Can you hear me?

MR. FENRICK:  Yes, I can.

MR. VAN DUSEN:  Yes I can as well, sir.

MR. BROPHY:  Thank you.  Good morning, Mr. Fenrick.  Just before I start into the questions, I just wanted to validate with you I am assuming you have been kind of online at least today and maybe throughout the proceedings and heard some of the discussions, or at least read the transcripts.  Is that correct?

MR. FENRICK:  I was on earlier today.  I have not had a chance to read the transcripts from prior days.

MR. GARNER:  Okay.  So that's a good comment because some of them including from Mr. Lowry to Hydro Ottawa.  So I just wanted to know if you had been listening today at least, which you have.  

So my first question is, you may have heard some discussion around the stretch factor differences between what you recommended and what Hydro Ottawa was proposing.  So you are recommending the .3 percent, and Hydro Ottawa has asked you to run another scenario, removing some capital projects, and that reduced it to .15.

In your opinion -- and, you know, you probably understand the reason of why Hydro Ottawa, you know, has their position -- but in your opinion, which of those approaches would you say is most appropriate?  And why?

MR. FENRICK:  If you go to page 34 of the Clearspring report -- and maybe I will just -- there I basically said, you know, we did do an alternative run as requested by the company.  But our stretch factor recommendation is the 0.3 percent, simply because, you know, we're unable to make similar adjustments to the other sample utilities.

You know, it is the case that if Hydro Ottawa had not pursued these capital projects then the stretch factor would be .15 percent.  However, given that we can't make those similar adjustments for the sample and, you know, kind of put things on apples to apples, we thought the stretch factor is best based on the full cost that include those capital projects.

MR. BROPHY:  Okay, thank you for that.  So given that it is due to removal of two capital projects, in your experience is it normal to remove capital projects for calculating those factors?

MR. FENRICK:  No.  Usually with the sample data we are unable to remove those kind of similar projects for the sampled U.S. utilities.  So there is basically an inability, if you will, to make those adjustments.

MR. BROPHY:  Thank you.  And you might have heard a discussion with Mr. Lowry and Hydro Ottawa this morning around -- I think he was suggesting that the preferential treatment would be a price cap model over custom incentive regulation, and Hydro Ottawa's chosen to head the custom route.

There were some questions about, you know, what is the difference?  Is it really custom or not?  So, you know, you've had a chance to review the material from Hydro Ottawa and are familiar with their portfolio for the next five years.  So in your opinion, would it be suitable for Hydro Ottawa to just adopt a price cap approach rather than a customized approach?

MR. FENRICK:  I mean, that's certainly outside the realm of what I have examined in this proceeding.  I am not an engineering expert.  I don't know the capital needs of the company.  I would say that I think part of the problem -- and this is -- Dr. Lowry and I discussed this just previously -- is there's no way to quantify that aging infrastructure issue that the company likely faces, or the company itself is saying, you know, there's an aging infrastructure here and we need a capex surge.

I think intervenors would be much more comfortable if there was that research and we could quantify -- I think you -- I mean, I don't want to speak for you, but I think there would be many that would say oh, no, the custom IR is perfectly appropriate if we had a quantification of that aging infrastructure because of that issue, and of course the company needs this capex surge.

You know, absent that it is an unknown, other than the fact this is what the company is saying and we can examine the capital needs and people more qualified than myself can examine the capital quantity, capex expenditure needs and, you know, to the extent that those expenditures are necessary and needed, I mean, of course they should be funded.

I understand the reluctance just because there is not that.  But I think if we did that, you know, people would be much more comfortable with the custom IR approach.

MR. BROPHY:  Okay, thank you for that.  And actually, that kind of leads into my next question around, you probably heard earlier today questions about the flexibility that Hydro Ottawa would have on capital expenditures over the next five years, and I think indicated that they're going to need some flexibility given some uncertainty that is happening.

So we -- oh, just one second here.  Try and -- sorry about that.  I had some background noise.  At least it is not the kids and the cat.

Yes, so you needed some flexibility to deal with some of that uncertainty, you know, over the next five years. So, you know, one of the things that, you know we had asked some questions about and you probably heard about is in the City of Ottawa there is quite a bit of change coming, you know, their community energy and emissions plan, the new official plan, all of which are, you know, still pending in their final version, and Hydro Ottawa had indicated that the timing of the application is a little unfortunate, because if it happens say a year later they would have perfect knowledge of that, and so they're just trying to adjust to all of that.

So given all of that kind of uncertainty that's going to be happening in the next five years, what in your opinion -- what do you believe is the best way to handle those unexpect -- or they're expected changes, they just don't know what they will be exactly, how to handle that over the IR period.  Through the approvals at this point.  Like, obviously the choices will be Hydro Ottawa's in real time, but pending year to date knowing that that is coming, have you experienced ways to deal with that in a better manner?

MR. FENRICK:  That's a difficult question because, yeah, what you're basically saying is there is some uncertainty, right, in the future.  I mean, I think the company's proposal does a good job of addressing that with the capital variance accounts, you know, where, you know, any underspends, if, you know, if the capital expenditures don't come in like expected, you know, or forecasted, if you will, that that's being returned.

So I think that's a perfectly appropriate way to handle that, given the uncertainty.

MR. BROPHY:  Okay.  And then just kind of a finer point on that.  So with those changes and then there was some discussion earlier on the impacts of COVID, certainly 2020 it will impact and hopefully taper off in future years, there is a risk of capital underspending over the IR period.

What do you think is the best way to protect ratepayers from the risk of capital underspending over this custom IR period?

MR. FENRICK:  My understanding of the capital variance account is a protection for ratepayers.  That certainly seems like an appropriate approach.  You know, I probably do agree with Dr. Lowry that, you know, there may be -- should be some percentage there that the company keeps of the underspend.  They provide a little bit more incentive, if you will, but I think as far as protection for ratepayers of drastic underspend due to COVID, you know, the company has in its proposal protected ratepayers.

MR. BROPHY:  Okay.  So you believe that both on the capital, and it sounded like you may be referring to O&M as well, that to the extent that that impacts it, that at least a portion should go back to ratepayers or...

MR. FENRICK:  My understanding -- and Greg, correct me if I'm wrong -- is that the underspends will get returned to ratepayers.  You know, there potentially should be a piece of the underspending that the company would get to keep as an incentive to underspend to find efficiencies.

However, from my perspective the ratepayers are certainly protected from any large underspending --


MR. VAN DUSEN:  And if I could -- I am wondering if I could just jump in here just to reaffirm.  In addition to the capital variance account, there is an earnings sharing mechanism as well.

So to the extent that we would under-spend on something like OM&A, the earnings sharing mechanism would kick in as well.  So those are two different types of protections for customers.

The other thing about the forecast and some of the unknowns in the forecast, there is always an unknown part of a forecast.  You can't get away from that.  The day you make a forecast, it's already probably changed because of some assumptions.

We know about the Energy Evolution project and what's going on.  We know about some of the plans the city has in terms of light rail, and to the extent that we were able to embed them in our forecast.

And one of the challenges, but also one of the things a utility has to accept in a custom application is that we are hanging our hat on our forecasting ability and our planning ability, recognizing that we will have to make changes as time goes on to ensure safety, reliability and meeting customer needs.

And that's sort of the onus that is put on a utility in a custom application.  And the customer protection is provided through the capital variance account and through the earnings sharing mechanism.

As an example, in our 2016-2020 period, our in-service additions, are approximately $70 million more than was OEB approved.  We feel confident that those were the right type of expenditures.  As indicated earlier, we had very little control over a large majority of those type of expenditures because they were customer-driven.

But that is the type of prioritization that we may need to do over this upcoming period.  That's appropriate, and utilities should be expected decisions to ensure the customer needs are being met, and safety and reliability.

MR. BROPHY:  Okay.  Thank you, Mr. Fenrick and Mr. Van Dusen.  Those are all of our questions.  I just would note for Jamie I had sent him a note earlier saying that I had a conflict this afternoon, so Energy Probe has graciously agreed to take our time and our questions.  I just wanted to make sure that everyone was aware of that.  Thank you.

MR. SIDLOFSKY:  Thanks, Mr. Brophy.  We will move on to VECC.
Examination by Mr. Garner:


MR. GARNER:  Thank you, can you hear me, Mr. Fenrick?

MR. FENRICK:  I can, but you are breaking up just a little bit.

MR. GARNER:  How about now?  Can you hear me now?

MR. FENRICK:  I think so, yes.

MR. GARNER:  I don't have many questions.  Dr. Lowry went through them all, and I’ve got to tell you I'm a little hesitant to get into them, given that I gather there is some debate among OLS and GLS and which does better on auto-correlation and heteroskedasticity, so be patient with me.

Let me tell you where I start from and what I am wondering about.

One of the things about your models and Dr. Lowry's models, too, is one thing that already bothered me is the I R-squares in these models and, in your case, adjusted I R-squared.

I guess when I look back to my education many, many years ago when you see I R-squared in models where you are doing behaviour as opposed to science, where you have scientific data, usually that is a bad sign.  You wouldn't expect to have such adjusted I R-squareds in your case.

Usually it is a sign in my mind that you have overfit the model somehow, or you've got some data mining and chance correlation.

Does the high adjusted R-squared to you not trigger some issue in your mind about the models?

MR. FENRICK:  First of all, great job saying heteroskedasticity.

MR. GARNER:  Thanks, Steve.

MR. FENRICK:  Yes.  Maybe for some context, you know, An R-squared value or adjusted R-squared measures how well the variable explain the variation in what you are measuring; in this case, it’s total cost.

So we have a variation amongst the sample of observations and they have a total cost value and there is a variation there.

The R-squared is kind of the percentage that the variables explain share variation.  An obvious one is a very large utility that has a high customer count is naturally going to have a higher -- all else being equal,  higher total cost.

So you put a total customer variable in there and that is going to explain a portion of that variation amongst the sample because, you know, number of customers is a driver.

So overall, you do want a high R-squared value because that explains more of what our observations are.

So you know, all else being equal, high R-squared is preferable.

There are some safeguards that we have, because you did mention another over-fitting the model.  And that is a concern.  You don't want to put, you know, the price of shoelaces in China into a model and have that explained in utility total cost and just because it comes in.  So you know, that would increase the R-squared value by putting that variable in.

So the safeguards that we have are, number one, we start from a theoretical basis.  What is the logical impact of this variable on total cost?  We talk about number of customers.  The logical correlation is the higher the number of customers, the higher total cost is.  Same thing for forestation and weather and all of the other variables that we have into the model.

They have to align with that a priori or, you know, before you model theory just to be inserted.

The second safeguard is they have to have a high enough T-stat or P value, you know, low enough P value, high enough T-stat, so there is enough confidence that the variable that is included is statistically significant and is properly aligned with the theory.

And so for our research, we used a 90% confidence interval, or a P value of 0.1 or lower for it to be included in the model.

So those are the two safeguards, if you will, from over-fitting the model is it has to pass those two.  It has to have a theoretical basis and it has to be statistically significant.

MR. GARNER:  Don't you also sometimes use a predicted R-squared value to watch for over-fitting of the model?

MR. FENRICK:  Sorry, Mark, you are breaking up a bit.

MR. GARNER:   Don't you sometimes use a predicted R-squared statistic to look at whether the model is over-fit?

MR. FENRICK:  No.  We don't look at any sort of prediction of the R-squared.

MR. GARNER:  But isn't that one -- I am asking isn't that a way that one does look at whether a model is over-fit is to use a predicted R-squared value?

MR. FENRICK:  Not that I am aware of.

MR. GARNER:  Okay.  Let's go to VECC-28, which Dr. Lowry actually talked about both of these earlier today and I just wanted to ask you a few questions about them.  They're basically on the cost models, two of the statistics.

One is on the issue of elevation and the other one is on vegetation management.  Dr. Lowry was talking about this a little bit, but I am still a little bit unclear.

Thank you for the response.  I assumed it was you and this is about the elevation issue because I was thinking about elevation and you were pointing out it is not elevation, it is variation in elevation that we're trying to measure, as I understand.  Is that correct?

MR. FENRICK:  Correct.

MR. GARNER:  So what you are doing is you look at, let's say, a utility's service territory and you gather up data on different elevation points in that utility's service territory, and measure basically the variances of elevation in that territory.  Is that correct?

MR. FENRICK:  That's correct, yes.  So in a sense, is the service territory -- I use the word, and I am not sure if this is an actual word, hillier.  Does that change --

MR. GARNER:  You use the word hillier.  But in fact I am not quite sure that is what it is measuring, that is what I am getting at.

So if I were to measure -- I don't know how many measuring points you make.  But if I was to measure a city like Toronto that has a lot of a ravines but is actually fairly flat, it would actually have a fair amount of variation even though the city is actually quite flat, wouldn't it?  It is just they don't plan for ravines here, but generally.

MR. FENRICK:  Right.  I would have to look back, but my recollection is -- for instance, Toronto Hydro had a pretty low value for this variable, because it's looking at what the elevation is on all of those different pixels, if you will, and you take a standard deviation of all those.

And so, you know, to the extent it's some ravines but overall it is flat, I believe that the variable itself would be a, you know, fairly low amount or less of a challenge.

MR. GARNER:  So can I ask you to talk about the other one?  When you do this analysis, do you then do a check on, for instance, those franchises or those utilities who are theoretically in hillier places than those who are in a less hillier and do a, I call it a sanity check against whether that actually makes any sense to what the -- what it looks like in reality?

MR. FENRICK:  I would say, you know, we have had this variable in our models for, you know, a number of iterations.  When we originally constructed the variable, you know, we did look at that as kind of a sanity check.  You know, are those flat areas where we know service territory is flat, you know, do they have a low value versus a higher value in more mountainous or hillier regions?

You know, we did do that.  It was a number of years ago, if you will but..

MR. GARNER:  Is it possible in your data set, which I think -- I can't remember what page it is on in your study, but in that data set of utilities you have is it possible to rank them according to who is hillier and who is less hilly, so to speak, in your nomenclature?

MR. FENRICK:  Yes.  Looking through the data set you can certainly rank based on the variable value.

MR. GARNER:  I wonder if you could undertake to do that.  And let me tell you why.  I am curious, because in my experience whether somebody -- whether an area is hilly or not, utilities tend to -- cities tend to be built on flat areas.  Some utilities like San -- or some areas like San Francisco are built on hills, I do understand, but most places even in hillier areas build their actual infrastructures on flat areas.  Doesn't seem to be -- I know many places that are San Francisco-like, but most places are less like that even if they're in hilly areas.

I wonder if you could undertake to rank your data set by the hilliness of the utility?  And then I could just take a quick look at that.

MR. FENRICK:  With the caveat if that could be confidential, given that the data set itself is confidential, we --


MR. GARNER:  Okay.  I don't like doing confidentiality, so let me ask you a question about why would that one be confidentiality -- confidential?  Because all you are really doing, right, is saying is, my estimate of which the hilliest utility is from hilliest to less hilly is this.  Is that -- why is that confidential?  Or why should it be confidential?

MR. FENRICK:  I guess I might be okay with that if you are just okay with the ranks.  I would not want to put the, you know, the value -- the variable values themselves --


MR. GARNER:  That's fine, Mr. Fenrick.  I am not looking for anything more than kind of a sense of what this in ranking is showing me.  Who is the hilliest to the least hilly, and then I can do my own sanity check on that.  I don't need to see your data.

MR. FENRICK:  Yes.  We can undertake to do that.

MR. GARNER:  Thank you, Mr. Fenrick.

MR. SIDLOFSKY:  That will be JT4.13. 
UNDERTAKING NO. JT4.13:  TO RANK WHO IS THE HILLIEST TO THE LEAST HILLY.

MR. GARNER:  So let me follow up with the second part of that.  That's the vegetation, and again, Dr. Lowry was talking to you about the vegetation, and I was quite interested in that also, because again that sounds to me that what you've got is a data set that is scanning for basic trees.

But what I don't really understand about that is, if you're a utility that, for instance, just has a lot of parks and you're a utility who has a lot of concrete, one gets a lot of trees and one doesn't, but the trees are concentrated for the parks, right?  They're all concentrated in one spot.  Not planted in one spot, it's just a lot of parks.

How do you control for something like that when you are looking at vegetation the way you are doing?

MR. FENRICK:  I mean, I think that is accurate.  The park itself would get a value for the forestation.  I would say the land area of parks is a pretty small percentage of most service territories and so, you know, there we're looking -- you know, and it is also, if you will, equal across the sample.  We're treating everything the same way.

But you are right, you know.  Parks would get, if they were forested or had a lot of vegetation, would get a value in the forestation column, if you will.

MR. GARNER:  What I am trying to suggest is maybe you're not measuring -- when you finally measure that and put that through, because of the way you're measuring it, you're actually not measuring trees, forestry.  You're measuring density.

So one of the ways of, I guess, a -- customer density.  And so one of the ways that you would actually -- you test for that is you would just sort of regress this forest variable against density and see if you have a strong correlation; i.e., is density highly correlated to your forestry variable, and if it is, you're really just measuring something else, you are just measuring it twice, right?

Have you ever done that in order to make sure that you're not measuring simply density for a utility, you're approximating a density variable, not measuring forestry or forestry costs?

MR. FENRICK:  I mean, keep in mind that we are, you know, we would take this public data source, European Space Agency, and we're taking their actual measure of the forestation of the service territory.

You know, I think you are right, there probably is -- likely is some correlation between forestation and customer density.  However, it sounds like those are overlapping.  They're not going to be exactly the same, you know, what one is a cost challenge because after they're spread out or condensed versus, you know, the forestation challenge.

There's a number of examples within the sample, you know, say like Arizona Public Service, for instance.  There's a probably fairly dense utility.  However, their forestation will be fairly relatively low because the forestation is measuring something different than customer density and it's okay --


MR. GARNER:  Usually it measures something different, but I'm saying it doesn't.  I'm saying in fact it doesn't do that, and what I am asking you really is how do you test for that?  Like, how do you test it does not co-correlate with another variable?  In fact, correlation has nothing to do with what you are suggesting it is, your theory that you are measuring the idea that there is more trees and it is costing more, and I am saying, well, your theory is wrong.  What you are really measuring is simply density of customers.

So what I am saying, so how does one test -- how do you test to make sure that in fact you're not conflating the variable that you are measuring with something else?  Isn't that -- is this co-correlated with another variable?

MR. FENRICK:  Well, you can certainly calculate the correlation between two variables.  I would say in econometrics it is perfectly appropriate, in fact in almost, you know, most models, variables are correlated to some degree.

If they were simply, you know, redundant or, you know, very highly correlated, one of the variables would likely come in as non-significant, you know, which is why we do those T-stat tests and the P value tests.

The model in those T-stat tests are telling us, note, the model is gaining information by including both of those variables, you know, and we have a theoretical basis for why they would be different measurements, you know, one on the forestation challenges, the other one on the density challenges.

And so, you know, we're doing those tests to assure, because if they were redundant variables, as you suggest, the model would not be gaining any information from one of them and then the T-stats would come in insignificant and then we would just throw it out.

MR. GARNER:  Hmm-hmm.  Okay.  So --


MR. FENRICK:  But all of these variables are highly potentially significant and are adding, if you will, to the information to the model.

MR. GARNER:  Now, the last one wasn't on my questions, but Dr. Lowry was talking about this, and I didn't really understand.  The extreme weather variables that you use, did I understand correctly what you found was that when you added an extreme weather variable, in fact the signs were wrong if you disentangled the extreme weather from hot to cold; i.e., extreme cold to extreme hot.  Is that what you were saying to Dr. Lowry?

MR. FENRICK:  Right.  So in our model we combined the extreme CDD and extreme HDD.  When you do put them in separately they're not both the proper signs.  So you could not include them.  Then -- so -- but when you combine them then you do get the proper sign and significance.

MR. GARNER:  What I didn't understand, what is the theoretical basis of combining them?  As Dr. Lowry suggested, if the sign is, say, correct in the heat variable there may be explanations for that because it is actually measuring not -- measuring the -- something about the equipment and heat, and it's not measuring anything of the same type for cold.

What is the theoretical basis of saying, well, if I disentangle them, they're not valid.  But if I tangle them back up together, they are valid.

MR. FENRICK:  The theoretical basis is, you know, as I talked to Dr. Lowry, you know, the impact on the crews and those types of issues is likely to be similar as far as encountering extreme weather and how crews deal with that extreme weather as far as, you know, lower productivity and needing to take more breaks and those types of things.

So that is the theoretical basis is that extreme weather, both on the extreme and extreme hot end of things, the reaction of the crews is going to be to -- you know, they're going to need to lower their productivity to some degree and to take more frequent breaks to kind of escape that extreme weather.

MR. GARNER:  What was the wrong sign was on which one?  Which of the two sides, the heat or cold?

MR. FENRICK:  I would -- I don't know that off the top of my head.

MR. GARNER:  If you could undertake to provide that, which way it was.  I am curious.

MR. FENRICK:  Yes.  I can do that.

MR. GARNER:  Thank you.  I am just waiting for Mr. Sidlofsky.

MR. SIDLOFSKY:  That will be undertaking JT4.14.
UNDERTAKING NO. JT4.14:  TO EXPLAIN THE THEORETICAL BASIS BEHIND THE EXTREME WEATHER VARIABLES IN THE MODELS


MR. GARNER:  Thank you.  Just a last question on that.  So you haven't done any study yourself otherwise on, let's say, take this one with your theory that extreme weather actually causes crews to take more time to do something.

I hear your theory.  Your theory is you spend more time in the truck in the winter and more time taking breaks in the heat, et cetera.

But you have no evidence of that.  You're simply saying that is your theory, and you have used this analysis to sort of demonstrate that correlation.

MR. FENRICK:  Correct.  We have no kind of engineering or outside evidence put together for that.

The variable actually came out of a prior proceeding when a panel member themselves asked about extreme temperatures and, you know, could we develop a variable that would calculate extreme temperatures and correct for that.  She was concerned that, you know, that is a challenge for utilities to operate in cold temperatures.

So then after you that proceeding, we took that and calculated this variable.  So, yes, there is no, if you Will, engineering study; it's kind of more of a common sense variable.

MR. GARNER:  So Ottawa didn't give you any of their own insight as to whether in fact in the winter they find they're less productive on crew work than, let's say, in the summer or spring and fall?

MR. FENRICK:  I believe -- and I am not sure if it is this proceeding or the prior Hydro Ottawa, the company themselves did say, you know, that is a challenge, the extreme temperatures do create a challenge for the company as far as operating, you know, versus more moderate climates you know, where you don't have to take the precautions and the number of breaks, if you will.

So the company themselves, you know, did lay out, you know, would this be a legitimate variable from your perspective?  You know, I think the response was yes.  So you know, to me it is common sense, you know.  When you go out and it's minus 30 degrees out there, you know, I would be taking a lot of breaks as well and would need them.

So it is a common sense thing.

MR. GARNER:  I understand.  You think it is common sense, but I am more Dr. Fauci than Dr. Brix (sic) so on that end.  So, Birx, actually.  Sorry.


Thank you, Mr. Fenrick, that was very helpful.  And thank you, Jamie, I am complete.

MR. SIDLOFSKY:  Thanks, Mr. Garner.  Over to Mr. Rubenstein.
Examination by Mr. Rubenstein:


MR. RUBENSTEIN:  Thanks.  Can you hear me?

MR. FENRICK:  I can.

MR. RUBENSTEIN:  I apologize that you cannot see me.  I have had to call in.  I've had internet issues.

I also won't be able to see items you put up on the screen, so if you can let me know when an IR is put up on the screen.

Can I ask you first to go to 1 VECC 11F?

MR. FENRICK:  That's up now, Mr. Rubenstein.

MR. RUBENSTEIN:  I had asked Hydro Ottawa in this question if they believe that conceptually, the idea of scaling factor should be based on the utility's specific costs or benchmark costs.

In the response, they said they believed that conceptually, the scaling factor should be based on the utility's specific costs and the utility's unique circumstances.

So just I thought I would ask you a question.  I assume that you are aware in a general sense of Hydro Ottawa's custom IR methodology?

MR. FENRICK:  Right, in a general sense.

MR. RUBENSTEIN:  And you are aware of the scaling factor that is part of their growth factor?

MR. FENRICK:  When you mention the scaling factor, are you saying the 0.4 percent?  Or the factor that brings it down to 0.4 percent?

MR. RUBENSTEIN:  The factor that brings it down to 0.4.  So I believe their scaling factor is 0.35.

MR. FENRICK:  Okay, you're right.  I just wanted to make sure we're on the same page.

MR. RUBENSTEIN:  My understanding from the evidence is they essentially took the 0.35 composite of some external studies or external application of other utility cases, but that is where the number came from.

I asked Hydro Ottawa in the question if they think, from a conceptual point of view, if you want to use a utility specific cost so you want essentially a 1 percent increase in customers would equal in OM&A, or do you want to use an external benchmark to determine that when you are developing a custom index.

They went with the utility specific cost, although they're not actually using that.  I was wondering if that is your view of that, or if you have a view.

MR. FENRICK:  My view is, you know, conceptually there does need to be a growth factor in the revenue escalation formula.  I have laid that out in other cases.

As far as what that growth factor should be, I think there is a good case to be made that it should be equal to output growth.  In a lot of cases throughout North America, it's been the actual growth in customers.  So that scaling factor would actually be 1.0.

And from a theoretical basis, that makes sense.  I understand the company is being conservative here and providing ratepayers with an implicit stretch factor by that 0.35.

However, you know, from a conceptual basis, I think it should be based on the actual customer growth.  You know, for simplicity, it should really be the output growth, but to make it simpler, the customer growth that the utility experiences during the custom IR plan.

MR. RUBENSTEIN:  You're saying there should be no scaling factor?

MR. FENRICK:  Right, that the revenue should be allowed to escalate based on the growth and that percentage growth in customers.

MR. RUBENSTEIN:  Okay.  So then even though that the -- even though the evidence showed that for every 1 percent increase in customers does not actually equal 1 percent increase in growth in both the utility as well as let's say the industry at large?

That is my question.  Should you be looking at utility specific numbers, or industry specific numbers in setting this.

I take it first you're saying don't do that at all, which I don't fully understand.

Maybe you can help explain why, if the evidence shows both at an industry level and at the utility level, that an increase in customers of 1 percent equals some amount less because you have a lot of fixed costs that don't actually grow with an increase in customers, why you wouldn't include that.

MR. FENRICK:  Right.  To answer the first part, it should be based on Hydro Ottawa's actual customer growth as opposed to an industry customer growth.  Ideally, the incentive regulation formula is based on external factors and, you know...


MR. RUBENSTEIN:  I want to stop you there.  I am not talking about -- I don't need the customer growth part.  I am talking about the scaling factor that makes up customer growth.  Should that be based on the historic what a 1 percent increase in Hydro Ottawa's customers [Audio dropout] their costs or what a benchmark says or an industry-wide -- what an increase in customer growth should equal on costs?

MR. FENRICK:  Yeah.  I would say, you know, ideally since it would be an external it would be based on a benchmark value.  I would say it should be -- you know, the scaling factor, you know, should either be customer growth, which is kind of, you know, a large number of the plans just, you know, give the utility the customer growth or, you know, maybe if there's some adjustment for economies of scope it's pretty minimal, because it should be the long-run cost impact of output growth.  That's how the DSP and the X-factor is calculated, that is how the stretch factor is calculated.  It is a long-run notion of cost.

And so to align with the rest of the incentive regulation parameters, you know, you mentioned, like, fixed costs and those things, but, you know, fixed costs in the long run is not actually fixed costs.

And so, you know, it should be either customer growth or some sort of minimal markdown, certainly the markdown to about 1 percent customer growth to .4 in my opinion is a fairly large implicit stretch factor that the company is offering its ratepayers.

MR. RUBENSTEIN:  Okay.  Then my understanding also with respect to the custom IR plan -- I just want to check if you are aware of this -- you will be aware that under the fourth-generation IRM, as well we have seen in some other distribution application, the inflation is a mix of GDP IPI and Ontario AWE, and it's about a 70/30 split between the two measures?  Are you aware of that?

MR. FENRICK:  Yes.

MR. RUBENSTEIN:  And my understanding is what Hydro Ottawa proposed in this application is a split that is based on their historic overhead series of the period of time between their split between labour and non-labour OM&A costs.

Are you aware of that, that that is what they're proposing?

MR. FENRICK:  I am generally aware, although I was not involved in --


MR. RUBENSTEIN:  No, I understand that.  But I'm just looking at your insight here.

So I guess I have a similar question.  Do you think conceptually the split in a custom index methodology which is being applied here, the inflation should be based on utility-specific split between labour and non-labour or on a benchmark?  And I don't mean that -- and you may not agree that the 70/30 is an accurate benchmark, but it is just on a conceptual basis between a benchmark or a utility-specific splitting costs between labour and non-labour?

MR. FENRICK:  Yes.  From a conceptual basis I would say, you know, a benchmark would be my preferred approach in developing those weights, you know, absent the information on what that benchmark is, you know, like Ontario, those labour and non-labour splits aren't ready readily available.  You know, maybe you would use the company's as kind of a stand-in, but conceptually the benchmark would be the preferred approach.

MR. RUBENSTEIN:  Thank you.  If I could now ask you to turn to 1-SEC-18.

MR. FENRICK:  Okay, I think we are there, Mark.

MR. RUBENSTEIN:  In this interrogatory I had asked if you could do -- if Hydro Ottawa could do the benchmarking analysis, essentially, for OM&A costs only, and the response says essentially it is not feasible within the time frame.

And then the second sentence it says, and I am quoting:

"However, it is Hydro Ottawa's understanding that the OM&A costs would be very close in value to its total cost benchmark cost, while its capital costs would be slightly higher."

I asked in a previous Hydro Ottawa -- what the basis of the statement was, and they essentially said it was with discussions with you.

So can you help me understand how I guess you have this view with respect to what, if you had done the analysis, what it would likely look like?

MR. FENRICK:  Before we would actually do the analysis, it is hard to say what the results would be.  You know, I think one of the problems is we could just take the capital and take the OM&A and run them through the same total cost model.

The problem is, you know, you are not correcting -- you are not doing justice to the substitution issues and those types of things.

So prior to actually optimizing the model and doing the best possible model, it is hard to say exactly what the best result would be.

MR. RUBENSTEIN:  Well, so I put -- Hydro Ottawa says:

"However, it is Hydro Ottawa's understanding that its OM&A costs would be very close in value to the total cost benchmarking, while its capital costs would be slightly higher."

I asked Hydro Ottawa what was the basis of your understanding of that statement, and they said it was in discussion with you and I should ask you.

So I am just trying to understand what you told Hydro Ottawa that they can come to that conclusion, or is it just a misunderstanding, and this is not your view, and you had not come to this -- obviously you haven't done any empirical analysis, but you haven't come to that last analysis.

MR. FENRICK:  Yes.  Mark, I believe it is my recollection that we put the OM&A costs and the capital costs into basically the total cost model framework with the same variables, and this was the result, so I probably reported that to them.

But I would not consider those optimized or, you know, the best possible models.  That would take a considerable amount of more time to develop.  So that likely came -- you know, the company's understanding probably came from that discussion.

MR. RUBENSTEIN:  Okay.  So your view is we really can't -- you would not feel comfortable making the statement that the OM&A costs would be very close in value to the total cost benchmark, while its capital costs would be slightly higher?

Do I take from our discussion you wouldn't be comfortable saying that right now based on what you know?

MR. FENRICK:  Right.  I think that is an accurate statement.

MR. RUBENSTEIN:  Okay.  Thank you very much.  That is helpful.

So I understood in your discussions with Mr. Lowry earlier -- and I think you in a way repeated it just now in part of my discussion, but you are less comfortable in an OM&A-specific and capital-specific benchmarking, and that the total cost framework is much better.  For many reasons [Audio dropout] would be a substitution effect.  Did I understand that correctly?

MR. FENRICK:  Yes, that's right.  I think the OM&A and capital cost benchmarking could be misleading for the substitution impact and also, you know, the different capitalization methods between -- within the sample.

MR. RUBENSTEIN:  Can you help me square that with Hydro Ottawa's proposal to apply the stretch factor that comes out of the total cost benchmarking study to only OM&A?

MR. FENRICK:  How so?  I mean, I think that the company's using the total cost benchmarking because that is, if you will, the most accurate benchmark and doesn't suffer from some of those issues of disaggregated benchmarking.  So it is using that as the stretch factor on the OM&A.  I think that makes sense from my perspective.

MR. RUBENSTEIN:  But wouldn't you have a problem then that you are applying a total cost benchmarking so there is some trade-offs, obviously, between OM&A and capital that play out in the model, but because you are not applying that to all of your costs you are only applying it to a OM&A subset, there is now a disconnect.

MR. FENRICK:  I would say it is the most accurate estimate of the company's overall efficiency.  So you want stretch factors to -- you know, they work best when you are measuring the performance of the utility on a comprehensive basis.

So to the extent that that's the best performance assessment, you know, I think that, you know, then it gets applied to the OM&A, you know, to the revenue escalator.

MR. RUBENSTEIN:  Do you think that a more appropriate measure -- or, sorry, a more appropriate methodology would be to apply the results of the total cost benchmarking as applied to a stretch factor to the entire revenue requirement?

MR. FENRICK:  Given the company's proposal, you know, there isn't that avenue.  You know, certainly I think the total cost benchmarking results indicate that, you know, that stretch factor, you know, when there is a stretch factor, you know, it should be the .3 percent.

However, you know, in my understanding of the company's proposal is there is no stretch factor in place.

MR. RUBENSTEIN:  No, I understand they're not doing it.  I am asking your expert opinion.  Does it make sense that if we're doing a total cost benchmarking and come up with your number, that should be applied to the total costs, capital and OM&A?

MR. FENRICK:  If there was a stretch factor placeholder, then I would say yes, total cost benchmarking should play into their.

However, you know, when we get into the capital needs of the company, that's out of the realm of my expertise.  But I would say, you know, to the extent that those capital expenditures are required and needed, you know, they should be funded.

So, you know, coming up with stretch factors and escalation factors and S factors and all of these things that basically take funding away from the utility, I think that is not necessary, you know, if the capital is needed by the company.

MR. RUBENSTEIN:  Well, the...


MR. FENRICK:  Kicking the can down the road, the higher the stretch factor, the higher the S factor, we're kicking that capital expenditure can down the road to future generations, future plans.

At some point, aging infrastructure needs to be dealt with.  So we are just finding ways to kick the can down the road as we add on all of these factors.

MR. RUBENSTEIN:  Okay.  Maybe I misunderstand what the concept of the stretch factor is.

I had always understood that the idea being that the intent of what it is, an empirical exercise in common sense.  They're trying to determine, based on the results of the benchmarking study, the Board has two or three stretch factors and the idea being once applied, a utility should be able to do the work that it is proposing to do, the stretch factor essentially to claw back an amount to reflect what the expected productivity should be, you should be getting to move you closer to the benchmark.

MR. FENRICK:  My understanding of the stretch factor is it is meant to stretch the company beyond what the industry productivity trend is.

Unfortunately, the productivity factor was set at zero and was kind of a ceiling, if you will, or you know, zero percent could not go below that -- I guess that is a floor, sorry -- when the actual productivity factor was measured by both PEG and by us as being well below zero percent.

So that stretch factor is meant to stretch beyond the productivity of the industry.

However, at that zero percent floor, the company is already being stretched beyond that, you know, in the price cap.

So, you know, it is difficult then to say, well, we should be adding stretch factors and other things to the capital expenditures, when if they're needed, you know, they should be funded.

MR. RUBENSTEIN:  All right. Thank you very much, Mr. Fenrick.  Those are all of my questions.

MR. FENRICK:  Thanks.

MR. SIDLOFSKY:  Thanks, Mr. Rubenstein.  Energy Probe,  Mr. Ladanyi.
Examination by Dr. Higgin:


DR. HIGGIN:  Hello.  This is Roger Higgin for Energy Probe.  I will start the questions to Mr. Fenrick.  It is now afternoon, so good afternoon, Mr. Fenrick.  It's good to see you again.

MR. FENRICK:  Good afternoon, Dr. Higgin.

DR. HIGGIN:  So my first question is a follow up to our question, which will be part E of EP.RF part G and H.

MR. CASS:  Sorry, we didn't get the number here.  Would you mind repeating it for us, please?

DR. HIGGIN:  Yes.  It is our response to EP.RF 8.  I am going to look at parts G and H of that.  And then just to tell you, since we were punted over to Board Staff response, that's where we will have to go next.

Okay.  Do we have it?

So I am looking again specifically at the parts G and H.  Look at the question first, and then basically you went to Board Staff 17.  That's where you sent this to.

So we have to look at OEB 17, which is parts D and E in order to get the response to the question which talks about why the underground plant variable was removed from this benchmark model and why were the other ones, which are the EU, that's the urban variable and the rural   function.  So that was the question.

Your question was to go and take a look at parts D and E of Board Staff.

Now, if we can perhaps look at the question for Board Staff in D, that would be worth looking at in making your response, and then we will move to the response.

Just have a look at the question there.  It pertains directly to the undergrounding variable.  So the two questions in D and E.

So my follow up question then is to come to the response and then looking at part D just to confirm that  that you removed the percent undergrounding variable and its interaction terms, given previous PEG's concerns where the variable is redundant with the congested urban variable, and you have a statement to that effect.

Now, you didn't know at that point when you read this response whether PEG or not would make adjustments to its model.  Is that correct?

MR. FENRICK:  Yes, that's correct.  We don't know what PEG is going to do ahead of time.

DR. HIGGIN:  Or at that time.  And then going down into part E, again you use the fact that you followed PEG's lead and included the quadratic rural density variable along with the quadratic congested urban variable.



MR. FENRICK:  Yes.  In the Hydro One case, the minister came up with the rural variable because that is highly significant for Hydro One.

When PEG did their model, they included a quadratic on the rural density.  In other proceedings, for instance Toronto Hydro, we included a quadratic variable for congested urban.

So we included both of those variables, those quadratic variables to get the curvature on adjusted urban territory as well as rural territory and treat them in similar fashions, both ruralness and urbanness, if you will.

DR. HIGGIN:  Thank you.  I remember all of that debate in the Toronto Hydro case, and I am sure you do.  Have you looked at the actual specification of the PEG model now that it has been filed?

MR. FENRICK:  Yes.

DR. HIGGIN:  Can you confirm that PEG has also dropped a percent underground variable?

MR. FENRICK:  PEG included a percent overhead variable times percent forestation.

So while we were trying to address PEG's concerns and include interaction terms and the undergrounding, PEG in a way appears to kind of go against their own concern here and included a percent overhead which is basically an underground or the inverse of it, as well as an interaction term.

So they include the overhead variable, you know, despite their concerns in prior proceedings.

DR. HIGGIN:  Okay.  Thank you.  I will ask about that.

Now, as far as the rural density variable, have you had a look at the fact that as you mentioned PEG has included that variable?

MR. FENRICK:  They include an area variable, which is essentially the same thing as a rural density variable. They do make it an output, which, I am not a fan of an output being time and variance, meaning it can't change over time, but they include an area variable which is tantamount to a customer density variable, as well as the quadratic on that.

DR. HIGGIN:  Right.  Now, when I look at it, yours has a positive value and the PEG has a negative sign.  Am I correct, first of all, in looking at that?  And what do you believe the difference in them?

MR. FENRICK:  I believe both Clearspring's runs model and PEG's both have a positive sign, and --


DR. HIGGIN:  Okay.  So I must have been incorrect.  Thank you for correcting me on it.

So could you please now go to our interrogatory EPRF 14, and part B of that.  Okay.  So in part B of the response you point us to SEC 15 for the comparison of the benchmark.

We don't need to pull that up, because we asked PEG to chart the Hydro Ottawa scores from the two cost benchmark studies.

That's in PEG response to our M-EP-6, part A.  Could we look at that chart, please.  M-EP-6, part A.  No.  This is PEG's evidence.  We're looking at the interrogatory response, not PEG evidence, to EP-6.  M-EP-6.  Interrogatory response.

Can we go down, please, to the -- I have the chart shown in this exhibit, which I must have got wrong, or somebody has, M-EP-6, which is where they provide a chart showing both the PEG and Clearspring total cost benchmarks.  This is 1-EP-6.  It is not.  It is "M."  "M" as in Michael.

MR. VAN DUSEN:  Sorry, Mr. Higgin.  It's Mr. Van Dusen.  We are finding that for you.  My apologies for the delay.

DR. HIGGIN:  There we have it.

MR. FENRICK:  There it is.

DR. HIGGIN:  There it is.  So as we can all see, this is a comparison of the total cost benchmark from PEG and from Clearspring.  Have you had a chance to look at this response before, Mr. Fenrick?

MR. FENRICK:  Yes.  I have seen this chart before.

DR. HIGGIN:  Thank you.  I had a couple of follow-up questions to that.  So you keep the chart up, and perhaps we can ask a follow-up question.

So I would also want to look at the commentary that PEG had underneath the chart, in part B.  They have a commentary.  Maybe we can look at it.

The piece I am looking at is the last sentence of that commentary.  It says, in brief:

"It points to the fact that the addition of a growth factor, the formula has an outline which Clearspring did not rely on."

Could you respond to that commentary, please?

MR. FENRICK:  Yes.  I would say that is an accurate statement by PEG that we, in escalating the OM&A expenses, we did not include that 0.4 percent.  We weren't aware of it when we did the research.

I would say, you know, that's kind of a pretty minimal impact on those results, because that's on the OM&A piece only.  So that's less than 40 percent -- you know, 40 percent, 50 percent of costs.  And then it is just a .4 percent.  But that's an accurate statement.

DR. HIGGIN:  Right.  So directionally this would move the Ottawa Hydro score closer to the benchmark.  Is that correct?  If you included the growth factor.  Or would it go the other way?

MR. FENRICK:  It would move it closer to the benchmark.  So we would move ours up a bit, in the GIR period.

DR. HIGGIN:  Right.  So if we look at the -- go back to the chart a bit, if you could just go back up to it.  You can see there is quite a difference there in terms of yours flattening off and theirs actually decreasing the score.

We asked about that, and I think in your response, if I am remembering it, you said you didn't really have a good reason for why that happened.  Am I correct?

MR. FENRICK:  Well, I think there's a whole host of reasons, you know, that we haven't had time to disentangle, but, you know, one potential -- you know, PEG restricts their sample for the Ontario utilities to after 2013.  So, you know, it's ignoring all of the Ontario data before that.  And so, you know, likely that is going to have an impact on estimating a utility moving forward.

And also, you know, PEG updated the inflation forecast, you know, they did their research, you know, well after ours.  So, you know, they had the ability to do that, you know.  There's a number of other reasons.  You know, PEG is making those assumptions on the capital benchmark year.  So that could be having an impact here.  You know, there's a whole host of reasons --


DR. HIGGIN:  Right.  So could we just look at what PEG had to say, just specifically on that, and turn up their evidence, Exhibit M, and go to page 43.  This is now going back to the PEG main evidence, Exhibit M, page 43.

Okay.  So let me just find -- there it is, the last bullet point that I would like to ask about.  It says Clearspring's benchmarking, et cetera.  So I will just give you a chance to respond to those points that have been raised there with respect to particularly the forecast outlook period for your benchmark.

MR. FENRICK:  If we can just go bullet point by bullet point.  We addressed the I minus X plus G, that will have a pretty minimal impact.  But that is accurate.  We would bump up a bit towards the benchmark if we had done 1 minus X plus G.  When we were doing the research, we didn't know what the company was going to propose for G.

The company did update its capex, so we used before that update.  And then the inflation forecast, we did have -- you know, when we were doing the research, that was a while ago.  So we used the most, you know, accurate ones at the time.  But then PEG does have the ability to update those.

I would say, though, that these three do not encompass all of the differences between the models.

My estimate is these three are going to be a fairly minimal impact.  The bigger differences are the fact that PEG did not put, you know, extreme weather variable into the model and they excluded a large portion of the Ontario sample. You know, they're missing a whole bunch of the information there.

And so, you know, there's other reasons for the differences in the benchmarks, other than these three.

DR. HIGGIN:  Thank you.

MR. FENRICK:  But these three are fair, but I don't think they're going to have a large impact or large explanation for those differences.

DR. HIGGIN:  They wouldn't affect the flattening of the score that you are predicting going forward.  They would not have a significant effect on that?

MR. FENRICK:  I don't believe so.  You know, I would have to re-do all of this to really tell you.  But like, you know, just on the face of it, that G of 0.4 percent, once that is on OM&A only, that becomes less than 0.2 percent every year, you know, that's how much, you know, the capex, I don't believe changed significantly from what we were using.

And the inflation forecasts, you know, those aren't going to be large changes just on the face of it.

DR. HIGGIN:  Okay.  Thank you.  Those are my questions and thank you for your answers.  Thank you.

MR. FENRICK:  Thank you.

MR. SIDLOFSKY:  Thank you, Dr. Higgin.  That concludes panel 4.  Thank you both for your patience.  We are going to break for 45 minutes.

Just another scheduling note.  We only have one, two, three, four questioners for Dr. Lowry after the break.  Pollution Probe, Schools, Energy Probe, and Hydro Ottawa.

So we will -- I am just not sure if Pollution Probe is -- excuse me, if Dr. Higgin or Mr. Ladanyi will be combining the Pollution Probe and Energy Probe questions because I know that Energy Probe will be asking the Pollution Probe questions.  Perhaps we will sort that out at the break.

MR. LADANYI:  Excuse me.  I will be asking Pollution Probe questions.

MR. SIDLOFSKY:  Okay.  Thanks, Mr. Ladanyi.  So we will start with you after the break.  And we will then move on to Schools, Energy Probe, and Hydro Ottawa.

Thanks very much and it is just ten after one right now.  Why don't we say we will be back at 2:30 from lunch.

MR. RUBENSTEIN:  Jamie, it's mark, two things.

MR. SIDLOFSKY:  Sorry, Mark?

MR. RUBENSTEIN:  Quickly, two things.  One thing is I think I am down for 30 minutes, and I don't have anywhere near that.

And just maybe -- sorry. if I could ask Tom to go for both Pollution Probe and Energy Probe right after each other.

MR. SIDLOFSKY:  That would be great.  That way we can conclude with Tom in one set of questions.  Tom, are you okay with that?

MR. LADANYI:  I am okay with that.  Actually it will be Roger who will ask Energy Probe questions.  I am just going to ask Pollution Probe.

DR. HIGGIN:  I'm okay with that, thank you very much.

MR. SIDLOFSKY:  Thank you very much.  We will do Pollution Probe and Energy Probe together then move on to Mark Rubenstein for SEC.

MR. RUBENSTEIN:  That's fine.

MR. SIDLOFSKY:  Thanks very much.  2:30.  Thanks very much.
--- Luncheon recess taken at 1:10 p.m.
--- On resuming at 2:03 p.m.


MR. SIDLOFSKY:  We're back, and I am just going to start by apologizing for misstating the return time.  I had meant to say two o'clock for the return.  I said 2:30, but I do appreciate everyone being back for two o'clock.  Thank you for that.


We're going to get started with our final panel, and that's Dr. Mark Lowry, president of Pacific Economics Group in Madison, Wisconsin.  He's been president of PEG since 2009, and prior to that he was a partner in PEG from October of 1998 to February of 2009.


I don't plan to give him a big introduction.  I don't think he needs one at this point.  He's -- I believe that Dr. Lowry is known to the people participating in this technical conference, so I will just propose to proceed with Mr. Ladanyi for Pollution Probe, followed by Dr. Higgin for Energy Probe, Mark Rubenstein for Schools, and closing out with Hydro Ottawa with their questions.


So Dr. Lowry, you've got the stand, and Mr. Ladanyi, you've got the questions.

ONTARIO ENERGY BOARD - PANEL 5

Mark Lowry

Examination by Mr. Ladanyi:


MR. LADANYI:  Good afternoon, Dr. Lowry.


DR. LOWRY:  Good afternoon.


MR. LADANYI:  So I am going to ask three questions for Pollution Probe for Mike Brophy.  He sent me an e-mail this morning asking me to ask these questions.


DR. LOWRY:  Okay.


MR. LADANYI:  It's interesting, in the Pollution Probe and Energy Probe used to be one organization from 1970 until 1980, when they split up, so I don't know the -- I don't have specific permission from Energy Probe to ask Pollution Probe questions.  I hope this is going to be okay with them.


DR. LOWRY:  I guess it wasn't a bad breakup.


MR. LADANYI:  I'm not so sure.


[Laughter]


MR. LADANYI:  Anyway, I don't want to ask.  I wasn't a member -- I'm not a member of either organization.  I act as a consultant.


Anyway, the questions from Mike Brophy are in reference to page 6 of the ER reports, Dr. Lowry, section 1.2.


DR. LOWRY:  Okay.


MR. LADANYI:  And what Mike asks, it says:

"Clearspring is suggesting a DPF of zero percent.  Can you clarify why the PEG average of 0.33 for similar large utilities is a better value for Hydro Ottawa?"


DR. LOWRY:  I'm sorry, I will have to ask you to repeat that.


MR. LADANYI:  I am just reading what he wrote.  So I really -- I can't give you --


DR. LOWRY:  Okay.


MR. LADANYI:  -- much clarification.  I will try it again.


DR. LOWRY:  Try again.


MR. LADANYI:  Clearspring is suggesting that PPF equals zero percent.  Can you clarify why the PEG average of 0.33 percent for similar large utilities is a better value for Hydro Ottawa?


DR. LOWRY:  Well, the estimated productivity trend is -- a partial factor productivity trend would be more appropriate for Hydro Ottawa, the beneficiaries being the customers, not Hydro Ottawa, in the event that the CPEF only applied to O&M expenses.


And I think that, not only does intuition suggest that O&M productivity is a little more rapid than capital productivity, but there is evidence from the States.  It's less crystal-clear in the case of Ontario, for two reasons.  One is that we haven't really recalculated productivity for a long time, and then there's the whole problem with the transition to MIFRS accounting.


And so as well, you know, it's not as if the O&M productivity was even an issue in -- for GIRM proceeding, and we have, for the U.S., better data on the input prices, of input price tends of U.S. -- O&M input price trends of U.S. utilities that we can use in such a calculation.


So we can get a pretty respectable calculation of the trend in the O&M productivity of the U.S.  It might be nice to have one also for hydro, for Ontario, but we just don't have that right now. and inasmuch as the guidelines of -- for custom IR clearly allow for more ambitious productivity targets for custom IR utilities, you wouldn't think there would be a problem in a modest bump-up in the O&M productivity target.


MR. LADANYI:  If I can ask a sub-question.  This is my question.  Would it be a good time for Ontario to have a new productivity study for distributors?


DR. LOWRY:  I do.  And I also -- because -- but I also wonder, should -- such a study should encompass the United States as well.  It is not like we produced multi-factor productivity numbers in this proceeding, ones that someone like Mr. Fenrick could challenge, contest.


Probably, the way it is looking, it would probably be better to have both, particularly for custom IR utilities.  You would think they're always going out and hiring someone to benchmark them using U.S. data.  Why not at least for those utilities consider U.S. productivity trends.


Getting back to the Ontario study, it's going to be kind of complicated because of that MIFRS transition that bumps up -- see. it doesn't equally bump up the cap -- it doesn't, like, have a -- equal and offsetting effects on the capital cost and the O&M, it's going to have a sizeable bump-up in the O&M costs around 2012 that is not offset by a reduction in capital cost.  That will take many years to have much effect.


MR. LADANYI:  Okay.  I would love to have a discussion with you, but I better continue with Mike's questions.


So his second question, again, it's in relation to page 6, it says:

"Clearspring recommends a stretch factor of 0.03 percent.  It would be a 12.5 percent if the two largest capital projects were removed.  In your view, is it appropriate to remove capital projects when calculating the stretch factor?"


DR. LOWRY:  I think the system that has been established in Ontario is a reasonable one for establishing stretch factors where the utilities are to some degree held accountable for replacement capital expenditures that cause a big bump-up in the cost.


For one thing, you know, it's sort of a not perfect, but it is one way to reduce this concern about overcompensation that I talk a lot about in my testimony.  It's not ideal.  I prefer the stretch factor approach.  But in the absence of substantial stretch factors, more substantial ones than we have been computing, it can help some with that.


I think it is important too to have some recognition that, you know, it's a good thing if you can postpone replacement capex without it allowing -- without allowing your reliability to deteriorate.  That is a good thing that should be rewarded by a very good performance score and a low stretch factor.


So when you have a capital cost specification that is sensitive to the replacement capex, or repex, as I sometimes like to call it, there are arguments in favour of that.


All of that being said, I think there is -- there is, I think, increasing interest by -- and it is coming up with a supplementary score that does take account of system age, but that's a very complicated issue.


We've been fortunate enough to have some funding to get started in that area in a Hawaiian proceeding that has been paid for by Hawaiian Electric, so we have gotten a start on that.


We did try to ask the company some questions that could possibly have elicited age data that we might have used, but they did not provide useful age data.


So this isn't going to happen in this proceeding, but down the road if there is a reopening of the benchmarking, as well as the productivity studies for the Ontario utilities, we might be able to try and take a stab at that system age issue, where they might -- some consideration could be taken of the fact that they needed extra money.


MR. LADANYI:  And the last question.  There may be a risk of capital under spending over the plan proposed by Hydro Ottawa.

The examples Mike gives are Cambrian project, COVID, other investments in Ottawa due to city's Energy Evolution plan, et cetera.

In your opinion, what is the best way to protect ratepayers from the impact of that occurrence?

DR. LOWRY:  To protect ratepayers from the impact of an under spend?

MR. LADANYI:  Under spending apparently, yes.

DR. LOWRY:  In general, I don't think they -- they would tend to benefit if it was judiciously done, if it didn't affect reliability.  Of course, that is another problem with the current regulatory system is that there aren't really formal penalties for reliability.  They're sort of calibrated to keep on the straight and narrow and doing the necessary Repex.

One thing since this is a pollution interest that I might mention is that, even if you were to rejigger the regulatory system in order to improve incentives, there's an argument to be made for exempting incentives that are --- and capex that is required to promote a greater reliance on renewables and/or greater use of beneficial electrification.

And there are plans where that's done or will be done.  In this Hawaiian proceeding, for example, that I am a participating in, they only allow certain types of major plan additions to get capex, and also anything having to do with increasing the embracing of reliance on renewables; those are tracked.

So that is something that could be contemplated in a new regulatory system for these companies.

MR. LADANYI:  Thank you, Dr. Lowry.  And it is now over to my associate, Dr. Higgin.
Examination by Dr. Higgin:


DR. HIGGIN:  Good afternoon, Roger Higgin.  Good afternoon, Dr. Lowry.

DR. LOWRY:  Good afternoon, Roger, nice to see you.

DR. HIGGIN:  Nice to see you.  I am just going to ask you a follow up question about the growth factor that I asked Mr. Fenrick.  Did you hear that exchange this morning?

DR. LOWRY:  Yes.

DR. HIGGIN:  Yes you did?  Okay.

So Mr. Fenrick, to paraphrase, he said the impact of that and a few other things that you mentioned in your evidence at page 43 would be minor.

But we still see a major difference in the Clearspring and PEG benchmark scores for the period 2020-2025.  So should we worry about it, since you both recommend the same 0.3 stretch factor?

DR. LOWRY:  I'm sorry, worry about what, Roger?

DR. HIGGIN:  The fact the two scores diverge markedly after 2020 from the two.  If you would hike to look at the chart we had up --


DR. LOWRY:  I am looking at my own numbers here and I would say that, you know, from the point of view of a panel, I think it's -- and when you are talking about this technical work, I like them not to be overly frustrated.

And when I look at these numbers, I don't see a huge gap between them, between the Clearspring and the PEG results.  We have seen larger ones certainly in some other proceedings.

So I think to me more the message that the panel should take away from benchmarking in this proceeding is that, well, of course -- the results are modestly to a little more than modestly different, but they both seem to suggest that the company is kind of an average cost performer, and therefore it's not surprising that the stretch factor that comes out of it is the same -- I mean, that is to say the one that Clearspring recommends as opposed to what the company is proposing.

DR. HIGGIN:  Okay.  Thank you.  We won't worry about it.  Could we go and look at your response to our interrogatory M-EP-10, part (a)?

DR. LOWRY:  Yes.

DR. HIGGIN:  Perhaps we should look at the reference to your particular evidence, where what we were asking about in the extract that we highlighted was, if the -- you made two cases.  One where the CPEF applies only to the OM&A revenue as proposed by Hydro Ottawa, and you give your proposed formula.

And then if it was to apply to both capital and OM&A.  And then you have, if you look further down in the response in part (a), you then list that it would be CPEF, inflation minus 0.3 percent, plus G.

DR. LOWRY:  Yes.

DR. HIGGIN:  That would be appropriate?

DR. LOWRY:  That's correct.  When you are dealing with a comprehensive CPEF, then you have to ask yourself -- you're in the realm of asking about a base multifactor productivity trend rather than O&M productivity.

And then you have to look at what the record supports.  And although you might find in the US a study that has some modestly positive multifactor productivity growth, but that hasn't been contested.

So we are kind of left with the number for Ontario that's been approved repeatedly by the OEB.

So that would be a zero base productivity trend.

DR. HIGGIN:  Okay.  Now, can we just go and talk a bit more about the growth factor.  And in doing so, could you please turn up your response to Hydro Ottawa, which is M-Hydro Ottawa-12 and part (b) of that IR response.  That is Hydro Ottawa response number 12, part (b).

DR. LOWRY:  Yes.

DR. HIGGIN:  In part (b), you discuss the G factor, the growth factor, and you then go on to -- I guess go on and explain your view as to how that might be constructed.  My word "constructed."

Do you see that in the response?

DR. LOWRY:  Yes.

DR. HIGGIN:  You do?  Okay.  So you talk about scale factors there, and so on and so on.

I am going to ask you is that -- you say the one proposed by Hydro Ottawa, looking at the bullet points down there, is on the low end.  I think that is being discussed today.

So what I am going to ask is if you could tell us or produce what you would say might be a recommended forward-looking growth factor for both capital and OM&A for the outlook period based on your assessment of scaling factors.

DR. LOWRY:  I don't have a number for that on the tip of my tongue.  I could take that as an undertaking.

At the end of that little bit of work, though, I might still say I'm not sure.  And this is a -- this little issue is quite a can of worms and I've -- I've been of -- you see, I have kind of dodged saying what I thought was the perfect number because I am not really sure what the perfect number is, or whether it could even be arrived at without a lot of extra work.

DR. HIGGIN:  So the...


DR. LOWRY:  I do think that it also to some degree depends on the rest of the plan.

For example, I could -- you know, I'm a big fan of the idea of getting people off of custom IR or at least making -- being more sparing in the extra revenue that is offered.

And if you had a full G factor equal to customer growth, and it could be combined with a higher materiality threshold, so then, you know, you increase the likelihood that maybe people wouldn't need as much capital revenue, might not even have to have a custom IR plan.

So that is another complication, is that I do see it somewhat interrelated with the rest.

Now, remember that Hydro Ottawa also is proposing this in the context of O&M.  And if people don't exactly know what a proper scaling factor would be for TFP, they don't know what it is for O&M productivity either.

You will notice that when they -- how they came up with their number was it was really just kind of a seat-of-the-pants thing, looking around at some precedents in other jurisdictions, and I can tell you I was probably involved in all of those cases, and it was never very clear in those jurisdictions either where those numbers came from.

DR. HIGGIN:  Okay.  You can understand our interest, rather than going into C factors and S and so on, if we had a comprehensive formula that included a growth factor that was appropriately scaled, that might be an alternative that would be worth considering.

DR. LOWRY:  That would be nice, but you know that it doesn't get you there.  I mean, it doesn't come anywhere close to their actual proposed capital cost growth.

So I don't think in this particular case where you are basically -- you want a multi rate plan for five years that pays for this great big new MTS, you know, you're probably going to get there anyways with the greater growth, but at least you are on the right track, and we're kind of seeing eye to eye that, you know, theoretically you can make the case that in the long run the full customer growth is a valid consideration, and if somehow it could translate into fewer custom IR plans, that would be intriguing.

DR. HIGGIN:  Thank you.  Would you on a best efforts take a look at that and see --


DR. LOWRY:  I will take an undertaking to take a look if you like, yes.

DR. HIGGIN:  Yes, thank you, that would be helpful to us if you could do that.  So if we could get an undertaking, that would be helpful.

MR. SIDLOFSKY:  We can.  That will be Undertaking JT4.15. 
UNDERTAKING NO. JT4.15:  TO PRODUCE WHAT MIGHT BE A RECOMMENDED FORWARD-LOOKING GROWTH FACTOR FOR BOTH CAPITAL AND OM&A FOR THE OUTLOOK PERIOD BASED ON THE ASSESSMENT OF SCALING FACTORS

DR. HIGGIN:  Thank you very much, Dr. Lowry.  Nice to see you.  And those are my questions.  Thank you.

MR. SIDLOFSKY:  Thanks, Dr. Higgin.

We will move on to Mr. Rubenstein for Schools.
Examination by Mr. Rubenstein:

MR. RUBENSTEIN:  Can you hear me?

MR. SIDLOFSKY:  I can.

MR. RUBENSTEIN:  All right.  Thank you very much.  I apologize for not being able to see you.

Dr. Lowry, I want to first ask for your response on a comment that Mr. Fenrick made in response to some of your questions and as well as my questions on the same issue earlier today.

He was asked about, in response to a number of questions, it seemed to me that he provided a view that he was not a fan of essentially splitting the capital and OM&A benchmarking, because you do not -- you are unable to capture some of the trade-offs between capital and OM&A.

And so he didn't seem thrilled with the idea of using the OM&A only benchmark for the purposes [Audio dropout] a stretch factor that would be applied only to OM&A.

And I was wondering what your view is, if you had any comments [Audio dropout] you had a response to that.

DR. LOWRY:  Yes.  Well, certainly that is a consideration, and you could always say that -- for one thing you could say, well, we're going to look at O&M and capital separately, but it's the total cost that the stretch factor is still based on.  And that does help to solve that problem.

But in terms of coming up with appropriate models for OM&A and capital, I guess I'm not as pessimistic as he might have been or acted like.  For one thing, there is such a thing as a restricted cost function, which is, in theory, for example, O&M expenses are a function of output, and they're going to be a function of O&M input prices.

But in a restricted cost function they would also be a function of the capital quantity.  And in my opinion, that opens the door to considering capital variables in the O&M cost function.  And I've done that in these models.

You will notice that there is an, I think an overhead variable in the O&M model that I would usually frown upon in a total cost model because I would think that was an endogenous variable, that's a choice maybe a company like -- you know, between Toronto Hydro and Hydro Ottawa, you know, one of them would decide to do a cheapo undergrounding in some suburban area more than another, and then that, you know, is an -- because that's an endogenous choice it kind of violates the theory underlying the econometrics.

But in an O&M cost function it's okay to talk about the degree of overheading and system.

So by dint of that, I think I've -- and also potentially one could as time goes on develop some special variables that particularly matter for O&M more than they do for capital.  I mean, the one thing -- or one thing that Mr. Fenrick is good at when he gets his budgets for these projects, he likes to develop new Z variables.

And, you know, if he was doing that going forward he probably might cook up another Z variable or two that would be appropriate for O&M and capital even if they didn't get as strong support for a total cost model.

So I guess I am not as pessimistic about that.   When you consider that it doesn't take that much extra work to develop these extra models and that it's informative to the Commission -- I mean, look in this case.  We are able to show that, well, there is a pretty good size deterioration in the company's capital cost performance, also a small one in their O&M, but it is more of a capital thing, and I think it is good for the Commission to know about that.

MR. RUBENSTEIN:  So I put to him what I felt was a disconnect between a stretch factor based on a total cost benchmarking model that only applied to the OM&A.  Let me ask you this.  Is it preferable if you're only going to apply a stretch factor to OM&A, as Hydro One is proposing, to determine the stretch factor from a benchmarking that only looks at OM&A or based on the total cost benchmark?

DR. LOWRY:  I am on record in this proceeding as saying I think it should be a total cost -- the stretch factor should be based on total cost no matter what.

In other words it would be very unfortunate for there not to be some feedback to revenue from the company's cost performance, and if they're spending a lot on capex they ought to have slower revenue growth somewhere.  Not only now, but possibly in future plans, because once capex is incurred it is in there for a long time, and it takes a long time before it depreciates a lot.

So I am all in favour --


MR. RUBENSTEIN:  Okay.  So you are in agreement on that point, between the two of you?

DR. LOWRY:  Well, I think it should be based -- I don't know what he said, but he -- I think it should be based on the total cost results.

MR. RUBENSTEIN:  Okay.  So -- thank you.  Thank you.  [Audio dropout] if I could ask you to turn up SEC-OEB-1.  Sorry.  Not SEC-OEB-1.  I apologize.  Yeah, sorry.  SEC-OEB-Staff 2.  Let me know when it is up on the screen.

DR. LOWRY:  Okay, got it.

MR. RUBENSTEIN:  So in this interrogatory I was asking you, and you provided a response.  I will just sort of cut to the chase here.  Essentially, as you may be aware, on the last custom IR application in the settlement agreement there was what was known as an efficiency adjustment mechanism, which essentially credited to ratepayers of Hydro Ottawa [Audio dropout] in its stretch factor cohorts based on [Audio dropout] or I guess the existing Ontario-wide benchmarking update that the Board does annually for the stretch factors.

DR. LOWRY:  Yes.

MR. RUBENSTEIN:  And I was trying to figure out because in this case both yourself and Mr. Fenrick have developed new models, but not expanded models with U.S. comparators, how, if the Board was inclined to order a similar mechanism to be in place for this custom IR, but instead of obviously using the Ontario-wide update, the one that would be based on your PEG or the Clearspring model, could a simplified version be created to essentially allow either the OEB Staff or the utility to do the calculation?  So instead of having to retain doing a significant amount of benchmarking work, a simplified version to be able to do it.

And in your response, you essentially, as I read it, say that you can create a simplified spreadsheet. I think you referred to essentially as the PEG benchmarking forecast model that you developed for the staff.

I was just trying to understand how much work would actually go into doing this.  I am just trying to understand if it is actually a feasible thing to propose to the Board, or really this is not that feasible to develop in a relatively short time in a way that is cost-effective.

DR. LOWRY:  I feel that it's feasible to -- first of all, I don't think that the original model from the for GIRM proceeding is -- should be used for Hydro Ottawa.

So it would have to be one of these two models -- of course, you could always use both and take an average.

I don't know that it would be that hard.  After all, the company -- I mean, all the companies, as I understand it in Ontario, now are expected to benchmark their own forward test years, I think using that 4 GIRM model.

So let's say for example Hydro Ottawa, one of the more sophisticated companies in Ontario, was charged with benchmarking their own costs using either one of these models, I wouldn't think it would take that much work for Mr. Fenrick to report the results from it and we're not talking about re-estimating the model.

Now, the listener might think, well, of course not.  Who would even dream of re-estimating a benchmarking model every year?

Actually, the Australian energy regulator does exactly that every year; they re-estimate their benchmarking models.

But no one is proposing that here.  It would just be to choose one of the two models, or choose both and have somebody kick-out the benchmarking score.

I wouldn't think it would be that hard.

MR. RUBENSTEIN:  And so I just want to -- it is very abstract and I know what are saying.  But from a practical perspective, say the Board said okay, we're going to use the PEG model.  We're going to ask them to do this on essentially on an annual basis or at the end of a term to go back and look at each of the years and determine there had been a slip in the benchmarking based on their actual performance.

I am trying to get a sense of the quantum of dollars.  What are we talking about?  I am trying to understand if this is something that's not worth the money and...


DR. LOWRY:  Well, let me say that, first of all, it wouldn't have to be PEG, to use the PEG model.  It could be Clearspring to use the PEG model.  So we'll establish that first.

But secondly, do you realize that every year, PEG Re-benchmarks the entire industry of Ontario?  Every year we do that, usually in the summer.  It's been postponed this year because of the COVID problems.  And the budget for that is like $25,000, and that is to do it for every single utility.

MR. RUBENSTEIN:  Okay.

DR. LOWRY:  So it is not a lot.  It would be a goodly amount less than that just to do this one task, at least if we were doing it.

MR. RUBENSTEIN:  Okay.  Sorry, let me just -- can I ask you to turn to SEC-OEB Staff-3?  In this interrogatory, I asked you should the on labour and labour rates determine inflation amount in a custom impact based on an utility's own efforts forecast rates are based on industry rating.

I took your answer to be it's fine to use the company specific weighting because the Board's 7030 is likely really out of date.  Is that a fair...


DR. LOWRY:  Yes, I think you are in a realm where ideally it might be done for the average for all of the utilities.  We don't have an up-to-date version of that.

What would happen if it was really off the mark for this specific company anyways?  I don't know; that might give me some problems.

So under the circumstances, to do it once is not going to damage incentives, and approving it being done once doesn't mean you are approving doing it that way every time.

See, if you did it that way every time, then a utility could start thinking that, hey, we ought to put more money on the horse whose O&M -- whose input price is rising more rapidly.  I mean, they'd start to think about that, but you are -- it wouldn't even be saying that.

So I don't see the harm in using the company specific numbers in this case.

MR. RUBENSTEIN:  I understand that.  My question is just conceptually speaking, what should you be using?  Let's put aside what the Board -- like your 7030 being out of date.  Should you be using utility specific or an industry-wide weighting?  What is conceptually the best?

DR. LOWRY:  I think it would be probably ideally industry wide, provided it isn't markedly different from the company's.  Then and I would have a little more pause.

MR. RUBENSTEIN:  If I can ask you to turn now to OEB-SEC 8.  In this, I asked you to elaborate on the Albion K bar approach to funding supplementary capital.

DR. LOWRY:  Yes.

MR. RUBENSTEIN:  You provide an explanation and I went back and looked at the various Albion decisions, and it's very complicated.  But can you help me understand?  Is the output of that model versus what I would call either the Hydro Ottawa approach or what the Board has done in other applications, for example Toronto Hydro, Hydro One, the K bar approach at the end of the day fund the less capital.  Like, would they be paying less under that approach than what you are proposing now, or some of the other approved custom IR approaches?

DR. LOWRY:  Well, let's suppose first of all you decided to go down this road.  Then people would immediately start haggling about which of the past gross plant additions go into the calculation, and they might be -- you know, we know that in the case of Hydro Ottawa that every 5 years, they've got a pet project that costs a lot of money.

And so there would be a question about including that in the average.  But I mean the key, the key to the -- so it isn't necessarily going to result in a less rapid capital cost growth.  But the appeal of it is, first of all, is in the area of regulatory cost and incentives.  In terms of regulatory costs, you would be saying that whatever we come up with for you in the next 5 years is going to be based on an average of what you did in the last 5 years, and we are not going to sign-off on your specific capex proposal.

In fact, we are -- so we're -- there's a big savings about people anguishing about some multi-year capex proposal, and an appeal to the customers is that they are at risk at the end for what they actually do.

There is no pre-approval of the capex.  It is one of the things that the Ontario utilities must surely love about custom IR is they're getting sort of an advanced approval for a budget at a minimum, but a budget based on a specifically proposal, too.  What is not to like about that from their standpoint?

So in this case, you are -- you know, you're just not going to go there and you're not going to base it on their own capex proposal.

And so that is the main appeal and the California approach is a little simpler than -- which I also discuss in my testimony was a little simpler.

It would be more of the flavour of what they're proposing, excepting you would be replacing their specific capex budgets with again an average of their recent capex, and then you wouldn't once again have to be signing off and fighting like cats and dogs about their specific capex proposal.

MR. RUBENSTEIN:  Now, my understanding for the OM&A under the Alberta model for OM&A, what they do is they would look at -- it is not based on a forecast test year approach, so what they would do is they look back at the previous historic years, pick their lowest year, make certain adjustments if there were anomalies in that year, why it was about to cost in items in that year, increase it, I think, by inflationary amounts, whatever that year is, to get to essentially what would be the bridge year, sorry, notional bridge year amount, and then you apply whatever factors [Audio dropout]

Do I have that generally correct?

DR. LOWRY:  Yeah.  I might just say by way of background, I mean, what's different?  What's different about Ontario -- Alberta as opposed to Ontario?  They are really nuts about this regulatory cost issue, or they were very sorry at the end of five years that they had been kind of manoeuvred by the utilities into offering very generous supplemental capital revenue in a very information-intensive way.  And they were really wanting to get away from that.

So they learned -- I mean -- and I do think the situation is kind of analogous to the OEB, because when the OEB came to the renewed regulatory framework it was like all about, oh, yeah, let's make this more customized, and we know that some of these utilities are going to have high repex, for example, so we're going to customize it, no problem.

But along the way the whole thing about regulatory costs and incentives was the price pay, and after you have gone through a whole cycle of that you become more mindful that regulatory systems are partly based on regulatory costs and on incentives and not just on this customization issue.

So they were really nuts about doing things in a way that minimized the costs, so they came up with that clever way -- well, obviously, to some degree the K-bar is clever, although it's kind of just a variant on the theme of what they do in California.

But then the thing they did there with the O&M avoided a rate case having to do with that too.  So they are very -- they are very -- you know, they just put a lot more weight there on incentives and regulatory costs than they have thus far here in Ontario.

MR. RUBENSTEIN:  Well, I under -- well, yeah, I mean all of that may be correct.  I saw the benefit of this, and I wanted to ask your opinion on it, is there is more continuity between plant.  You don't get an automatic essentially rebase for the OM&A in that year.  It's essentially a continuation of the previous plan.  That is what it is attempting to do.  Is that --


DR. LOWRY:  You can look at it that way.

MR. RUBENSTEIN:  -- not right?

DR. LOWRY:  Hmm-hmm.

MR. RUBENSTEIN:  Okay.  And the benefit of that is you don't get -- putting aside the merits of the cost proposals in this application, but you don't get essentially a step increase in that first year of the plan -- of the next plan.  You avoid that at least for OM&A.

DR. LOWRY:  Yeah.  You don't get a rate -- you know, you certainly don't have a rate case treatment of that issue.  I mean, whether it -- it could be up or it could be down, but I think it's -- the way they did it, it is not up, that's true.

MR. RUBENSTEIN:  Okay.  I think those are all of my questions --


DR. LOWRY:  Mark, by the way, I would just correct you in one respect, and that is, I wouldn't call it a continuation of the old plan, because they did re-parameterize the I minus X part of it.  They had a whole separate and new gunfight at the Okay Corral over all of those issues.

MR. RUBENSTEIN:  Okay.  Well, thank you very much.  Those are my questions.

MR. SIDLOFSKY:  Thanks, Mr. Rubenstein.  That leaves us with only Hydro Ottawa.
Examination by Mr. Cass:

MR. CASS:  Thank you, Jamie.  Dr. Lowry, it is Fred Cass here, counsel for Hydro Ottawa.

DR. LOWRY:  Hi, Fred.

MR. CASS:  Good afternoon.  My first questions relate to the response to Hydro Ottawa's Interrogatory 11 on the PEG evidence.  So that would be Exhibit L, tab 1, schedule 11.

DR. LOWRY:  Okay.

MR. CASS:  I am looking there in particular at the response to part A of the question.  That is at the bottom of page 2 of this interrogatory response.

Am I correct in understanding that this answer confirms that the wrong variable was unintentionally used in PEG's productivity work?

DR. LOWRY:  Yes, I think it would be preferable to use the Max Peak 5, the one that can decline, yes.

MR. CASS:  Okay, thank you.  And I think then the impact of this is addressed and the implications of this are addressed in the next part of the interrogatory response, part B.

So as I understand that, if you make what I am suggesting would be a correction here, the U.S. OM&A productivity trend, instead of being 0.27 percent, as indicated in the PEG report, would become 0.19 percent?

DR. LOWRY:  Yes.

MR. CASS:  All right. Thank you.  Then my next questions actually come back to something that Dr. Higgin asked about, and this is PEG's -- or the response to interrogatory 18 from Hydro Ottawa on the PEG report, so that is Exhibit L, tab 1, schedule 18.  No, I'm sorry, this is not the one that Dr. Higgin asked about.  I will be coming to that.

DR. LOWRY:  Okay.  So we are still going to 18?

MR. CASS:  Yes.  I'm sorry.  Yes.  So it's Interrogatory 18, Part J, which is at the top of page 4.  Now, unfortunately we just see a yes here, so we would need to go back to the question, and I am going to flip back to do that just so that we will get the question and then come back to the yes.

So Part J of the question is on page 2, as we already have on the screen.  And this part J, it refers to page 87 of the report -- of your report and the repex requirement indicator.

This is the Hawaiian Electric case context that you have already talked about a little bit, I think, Dr. Lowry?

DR. LOWRY:  Yes.

MR. CASS:  Yes.  And can you just explain before I go on what the repex requirement indicator variable is?

DR. LOWRY:  Well, what we're looking for is a variable that will indicate the need for repex replacement capex, and that is a tricky matter, because it could so easily be an endogenous variable.  It could be reflective of the company's effort in postponing repex or lack thereof, and that would compromise the econometric work.

So we're looking for an indicator that is more obviously an exogenous, which is the usual assumption in econometric work.

So to do this -- and the way -- the way we did it for the United States, we went back all the way to 1948, looking at the gross plant addition data, to get the patterns of when a bunch of past -- whether there would be an increase in the -- in sort of the gross plant additions that happened 50 years ago, because that is an exogenous variable.

So -- and, you know, we found over the years that this does occasionally matter.  It matters for Hawaii, for example, because they were like the middle of nowhere until they became a state in 1959, and then suddenly there was quite a bit of growth.  They even attracted people from Canada to visit them, and --


MR. CASS:  Amazing.

DR. LOWRY:  -- and so there was a lot of construction in the next some-odd years, and now some of that is coming due for replacement.

We saw something similar in Alberta.  It was a big issue in those two Alberta proceedings, you know, kind of a boom-and-bust economy, and so every once in a while there is a surge of things that need replacement.  They claim they needed that.

So we know that it can happen.  I like to sometimes call that an echo effect.

So we developed these kinds of variables.  In that particular proceeding, it is a vertically integrated utility, so we were also considering transmission.  But we did find strong support for the fact that it could be a cost driver and so we were able, on the basis of that. to come up with a custom MFP growth projection for Hawaiian Electric.

Now in Ontario, we don't have data going back to 1948 about gross plant additions.  But what we do have is we have -- and what caught my eye and attracted my interest is the kind of figure that you provide that said the likes of Hydro Ottawa provide in their distribution system plan, it kind of shows how these older plant additions are coming close to replacement age.

So, you know, what I am intrigued about doing eventually would be to model that using Ontario data and use it -- and use that as a consideration for either or both the benchmarking or productivity targets.

MR. CASS:  Okay, thank you.  So with that background then, I did just want to come back to the question to which the yes answer was given.  I think this should be obvious, but I just want to confirm.

So the actual question -- and it is more of a general question, not relating specifically to Hydro Ottawa -- but whether in PEG's research on the distribution industry, PEG believes that aging infrastructure is creating the need for relatively large increases in capex for some utilities.

It was that proposition that you were saying yes to in the response over on page 4.

DR. LOWRY:  Yeah.  But I would like to emphasize the "for some utilities".  I think we definitely see evidence of that.  But in my research, I have found a lot less -- I found less support for the idea that there is this massive industry-wide wave of need for REPEX that some other consultants have done.  When they do that, it is usually with some hand wiping.  As soon as they see -- they sort of have this business model that you know, step 1, identify negative productivity growth.  Step two, claim that it is due to rising REPEX requirements without really proving that.

And there are some models, there are some productivity studies out there that use -- we don't fortunately don't see it in Ontario, but they use controversial methods and have come up with more negative X factors or more negative productivity trends than our research supports.

So I guess we are in the middle where we do believe that some utilities really do have a problem of this kind.  We see it fairly frequently, all right. But it is less obvious that it is a major industry-wide phenomenon.

MR. CASS:  Okay, thank you.  So we had a bit of a discussion there about the general industry situation.

Now, bringing that down to or back to Hydro Ottawa, you're not offering evidence here that this is not a situation for Hydro Ottawa -- or are you?

Is your evidence getting into whether specifically Hydro Ottawa has this aging infrastructure situation?

DR. LOWRY:  No.  We didn't have -- we didn't have a budget to do that.  But also they didn't provide the data that we'd hoped they might.  Again, it doesn't really matter because I don't know that we had the budget -- I think we were more interested in learning from that, just thinking forward what the potential might be for Ontario wide study.

So we don't know about them.  But what we do know is that they -- you know, when they tell their story about the need for capex, the thing about the REPEX is only one of several stories that is told.

And they have unusually made these claims about the need for growth related capex that is kind of surprising to me because I don't usually think of -- first of all, it is actually harder to model the need for growth related capex, because it is harder to model when you are up against the capacity constraint.

But at any rate, as I have said at various places in this proceeding, you know, usually risk output growth coincides with some brisk productivity growth.

In general, it does.  So, you know, it is surprising to me a little bit the emphasis they placed on that as a cost challenge.

MR. CASS:  All right, then.  Could we then go to page 87 of your report, that is Exhibit M, just to talk a little bit more about the Hawaiian Electric example you told us about?

DR. LOWRY:  Yes.  Okay.

MR. CASS:  Would I be right in thinking, based on what you said about Hawaiian Electric, that you would see this as an aging infrastructure situation?

DR. LOWRY:  Yes.  We did -- we tried to do it the right way and I might say, just by way of a little bit of background, that this proceeding in Hawaii was similar to the one we did for the Ontario gas utilities some years ago -- not the most recent one, but the prior one.

And the company consultants were saying that the X factor should be based on the productivity trend for the northeast US, where customer growth is particularly slow.  But meanwhile, Enbridge was serving Toronto and Ottawa, where customer growth was unusually brisk.

So the issue came up with, what is an appropriate peer group?

And you know, obviously they were sold bold as to propose what I would have thought was just the exactly wrong one.  But at any rate, there was this issue that spurred us to start to develop this methodology, and it is in our journal article.  But in Hawaii, you have a little different situation where you do have this probably this REPEX, this sort of echo effect from the early statehood days.  And also they are not as much a vertically integrated utility as most are in the US, because for years and years, the Commission wanted them to buy their new power requirements.  So it got to where they were mostly a T&D utility with a respectable amount of generation.

So then what we have to come up with an X factor and there is -- people are, you know, very, very concerned that you shouldn't use the mainland vertically integrated utilities as the basis for Hawaii.  Also in Hawaii there's a lot more penetration of solar and the, they'll make a big deal about that.

So we were trying to come up again with a way to credibly come up with an X factor in a situation where the choice of a peer group was very much not obvious to the participants.

MR. CASS:  What is PEG's recommended X factor and stretch factor in this Hawaiian Electric case?

DR. LOWRY:  Sorry, I don't have that on the tip of my tongue.  I think the recommended X factor is negative 1.31.  That does, however, include the input price differential, which isn't an issue that comes up in the United States -- in Canada because you use -- first of all you use more of a weighted average inflation measure, like work and labour rates.

The other thing is the productivity trend of the Canadian economy isn't as rapid as that in the US.  So there is a big chunk of that negative 1.31 is due to that consideration.

MR. CASS:  And the stretch factor -- sorry.

DR. LOWRY:  No.  It's due to the matter of the, the difference between the input price trends of the US economy and the industry, and also of the productivity trends with the US economy industry.

Long story short, in an American style proceeding you knock off the productivity trend of the economy.  And that is substantial; it's like 0.8.  So that moves it a lot more to the negative.

I don't know if one of my colleagues can give me that US productivity number while I am up here.  Maybe Dave can.  Is Dave on the line?  If you could text it to me perhaps.

Otherwise, I could take that as an undertaking if you want.

MR. CASS:  Dr. Lowry I was going to ask one more question, and then I was going to ask you if you could produce whatever you filed publicly in this proceeding anyway.

So perhaps we would get it from you then.

DR. LOWRY:  Okay, yes.

MR. CASS:  First I did want to ask you, is PEG recommending an S factor or any significant markdown on capital in that proceeding?

DR. LOWRY:  The -- it's interesting that you ask that, because that is a place where everyone is in agreement that because there is supplemental revenue for capital, there must be some sort of markdown or consideration of that widespread agreement on that principle, which isn't even widely embraced in Ontario.

Now, how we dealt with it was a little bit of a different way.  We have mainly focussed on saying, okay, let's focus on the capital -- let's focus on the costs that are going to be addressed by the revenue cap index, and using that custom measure, we will -- we will adjust the productivity card to be specific to the costs that are going to be benchmarked.

So for example, with this fancy econometric model we recognized that increased pollution controls can slow down productivity growth.

So rather than -- so then we took that out of consideration in adjusting the X factor.  We have an X factor that's in other words -- I'm sorry, MFP growth target that is specific to the fact that there won't be any generating plant additions.  There won't be any increased pollution controls.  There won't be any AMI funded by it. There is a couple of other examples.  But on the other hand, they are going to have this mounting T&D repex problem.

So I feel that the way we did it largely does address that issue and does so in a way that comes up with this custom productivity target that doesn't require a lot of cost -- capital costs to be tracked.  It's a highly incentivized way of doing it.

MR. CASS:  So would you be able to --


DR. LOWRY:  But the narrow question, no specific S factor was required because of the -- we approached it by a different means.

MR. CASS:  Would you be able then to produce what PEG has filed publicly in that proceeding?  And specifically something that I hope would show the recommended X factor?

DR. LOWRY:  Yes.

MR. CASS:  Thank you.  Okay.  So that then will bring me to the interrogatory response -- I'm sorry.  Undertaking number --


MR. SIDLOFSKY:  I am just popping in here with an undertaking number.

MR. CASS:  Thank you, Jamie.

MR. SIDLOFSKY:  That will be JT4.16. 
UNDERTAKING NO. JT4.16:  TO PRODUCE WHAT PEG HAS FILED PUBLICLY IN THE HAWAIIAN ELECTRIC PROCEEDING.

MR. CASS:  I am so seldom on the asking end of undertakings that it just completely went past me.

MR. SIDLOFSKY:  I will go away now.

[Laughter]

MR. CASS:  So that will bring me then to the interrogatory response that Dr. Higgin was asking about.  I believe that one is number 12.  So it would be Exhibit L, tab 1, schedule 12.  And I am looking right towards the end of the response.  So that would be bottom of page 2, right at the bottom of the page.  Roger actually referred to this in his questions, I believe.  It says:

"The proposed scaling factor on customer growth is therefore on the low end of the reasonable range."

And my question was, given that you apparently have thought at least to some extent about the reasonable range, what would you see as the high end of the reasonable range?

DR. LOWRY:  The full customer growth.

MR. CASS:  So in Hydro Ottawa's case, though, 1 percent?

DR. LOWRY:  Yes.  Roughly.

MR. CASS:  Yes.  And for picking an appropriate growth factor, would you look to something towards the middle of the range?  And if so, what would that be?

DR. LOWRY:  That gets back to the question I was asked by Mr. Higgin, and I will -- I will think some more about that.  I find it very hard to come up with -- I find it very hard to come up with a specific recommendation on that.



I have not traditionally been the proponent of any markdown, but I have seen the markdowns, and I can rationalize them.

So I will give some more thought to that and see if I can come up with any number.

MR. CASS:  Okay.  But -- sorry?

DR. LOWRY:  As I said in response to that, it also depends on other features.  I mean, it would be a lot easier to agree to a full customer growth escalation if there was -- there were some offsetting restrictions on the ability to get a C factor.

MR. CASS:  Okay.

DR. LOWRY:  If not in this proceeding, then in a future proceeding.

MR. CASS:  So for today's purposes then, the low end of the range is the 0.4 and the high end of the range would be the full growth percentage for Hydro Ottawa?

DR. LOWRY:  Yes.

MR. CASS:  All right.  Thank you.  Those are my questions.  Thank you, Dr. Lowry.

MR. SIDLOFSKY:  Was there an undertaking near the end there, or...

MR. CASS:  No.  Not for me Jamie.  I think Dr. Lowry was talking about the undertaking he gave to Dr. Higgin and the fact he is going to consider this more, but I was not looking for any additional undertaking --


MR. SIDLOFSKY:  You weren't -- sorry.  You weren't looking for anything.  Okay.

MR. CASS:  No, no.

MR. SIDLOFSKY:  Thank you.

And with that, we're at the end of the technical conference.  So I am going to thank all of you for participating.  I will definitely thank our court reporter as well, and that concludes the day and the technical conference.  Thank you very much.

MR. CASS:  Thank you, everyone.

UNIDENTIFIED SPEAKER:  Sorry, Jamie --


MR. VAN DUSEN:  Thanks, everyone.

MR. SIDLOFSKY:  Sorry, just as a reminder, undertaking responses are due July 29th.

MR. VAN DUSEN:  Understood.

MR. SIDLOFSKY:  Thank you very much.

MR. RUBENSTEIN:  Is that a Friday?  Is that a Friday, Jamie?

MR. VAN DUSEN:  No, I think it is a Wednesday.

MR. SIDLOFSKY:  That is -- the 29th?  No.  That is a week tomorrow.  That is Wednesday.

MR. VAN DUSEN:  Wednesday.

MR. RUBENSTEIN:  Okay, thank you.

MR. SIDLOFSKY:  Thank you, everybody.  Have a good afternoon.

MR. VAN DUSEN:  Thank you.
--- Whereupon the hearing concluded at 3:10 p.m.
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